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Question Id : 42558910729 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)

Study the table carefully and answer the questions :

The given data is regarding the number of paperback and hardbound books sold by four different
book shops A, B, Cand D :

Shops| Number of Hardbound books sold | Number of Paperback books sold
A 3500 2000
B 3900 5200
C 4400 5500
D 5500 6600

Sub questions

Question Number : 1 Question Id : 42558910730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of total books (hardbound and paperback together) sold by the highest selling shop is what
percent higher than the lowest selling shop ?

(1) 50%

(2) 100%

(3) 120%

(4) 150%

Options :

42558941756. 1

42558941757. 2

42558941758. 3
42558941759. 4

Question Number : 2 Question Id : 42558910731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Number of hardbound books sold by shop A is approximately what percent less than the number of
paperback books sold by shop C ?

1 32
@ 36
(@) 38
@) 42

Options :

42558941760. 1
42558941761.2
42558941762. 3
42558941763. 4

Question Number : 3 Question Id : 42558910732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio between total number of hard bound books sold by shop C and D together and
number of paperback books sold by shop D ?

1 2:1
@) 5:4
@) 3:2
@ 9:7



Options :

42558941764. 1
42558941765. 2
42558941766. 3
42558941767. 4

Question Number : 4 Question Id : 42558910733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the ratio between total sale by shops A and C together to the total sale by shops Band D ?
(1) 77:106

(2) 73:102

3 17:33

4 21:27

Options :

42558941768. 1

42558941769. 2

42558941770. 3
42558941771. 4

Question Number : 5 Question Id : 42558910734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the average number of hardbound books sold by shops A, Band D
and the average number of paper back books sold by shops Cand D ?

1) 267
) 400
@) 1570
@) 1750

Options :

42558941772. 1
42558941773.2
42558941774. 3
42558941775. 4



Question Id : 42558910729 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
TfeTent T SATTIE e LTI i 3T YgHl & Iwl e :
fau T siRe, =R f=1 geae wfaemt A, B, C 3 D g1 faga &1 T weveas (TRaeE) SR geevEs
(ergarse) T & gy H ¥

. fomra &t mE wrdasT | T & 8 guEw
YEAI i HEET TEIHI i HEAT
A 3500 2000
B 3900 5200
C 4400 5500
D 5500 6600

Sub questions

Question Number : 1 Question Id : 42558910730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

waifuss fasea arer afaem gr fosra &1 T Fo T (FEase iR Y fiems) & e, =
farshar =t wfces g forsha =1 T8 e TEaRI ki G 9, fora wfaera stfes €2
(1)  50%
) 100%
(B) 120%
4) 150%
Options :
42558941756. 1
42558941757.2

42558941758. 3
42558941759. 4

Question Number : 2 Question Id : 42558910731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

wfaea A g faska &1 718 erdass ekl il GeA, WidwM C gr faska =i T8 Tueiss Jxaehi 1 9e 9,
e fepe wferord & m 22

@ 32
@) 36
@) 38
@) 42

Options :

42558941760. 1
42558941761.2
42558941762. 3
42558941763. 4

Question Number : 3 Question Id : 42558910732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gfassml C 3 D g1 U |1y foetrat fasa i 18 erearss Tl & Fa 9@ 3R gfae[@ D g/ faska
a1 T YUTeieh &I i SEAT % S o ST 1 7

Q 2:1
() 5:4
B) 3:2
@) 9:7
Options :

42558941764. 1
42558941765.2
42558941766. 3
42558941767. 4

Question Number : 4 Question Id : 42558910733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TfaeaTi A 3R C g1 Uk A foeTer et fosra =, wfaeri B 8ik D 3R v w1y foeme Fe faska & a1y,
ST A E ?
(1) 77:106
@) 73:102
@) 17:33
@) 21:27
Options :
42558941768.
42558941769.

1
2
42558941770. 3
42558941771. 4

Question Number : 5 Question Id : 42558910734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hfaeer A, B 3R D 3R fasma =i 78 erdarde qEashi w1 A Hen SR ufasmi C @R D g fasea i
YOI TR Bl Sia T W & o 3R e § 2

1 267
@) 400
(3) 1570
4) 1750
Options :

42558941772. 1

42558941773. 2

42558941774. 3

42558941775. 4

Sub-Section Number : 2
Sub-Section Id : 425589426
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 42558910735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is false in the context of research ?

(1) Inductive and deductive reasoning are applied in the research process.

(2)  Verifiable findings are derived by the research process.

(3)  Research is conducted to find answers of meaningful questions scientifically.

(4) It necessarily improves quality of functioning of the area in which it is conducted.
Options :

42558941776. 1

42558941777.2

42558941778. 3
42558941779. 4

Question Number : 6 Question Id : 42558910735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sy F Ted § frefefea § & $7 o FeF o 82

(1) sy gfeRar § ammeErees SR frmeene a9 g d

(2) 9 "feRAT gR0 WergHg TRl k1 Sgedfd i Sl §

() ity 1 Atk w9 F srefqol gl % SR R 3 A % o faean s €

(4) I% TEvHE ¥ 9 39 faug-&3 &yl it urEn 1 gura §, o 38 e s ')
asiori7re
425589417717. 2

42558941778. 3
42558941779. 4

Question Number : 7 Question Id : 42558910736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Select correct order of finalising a research problem :
Defining the research problem

Selecting the area of research

Finding the research gap

Study of reference material and reports of previous researches

moNwp

Identifying a research problem

Choose the correct answer from the options given below :
(1 BCDAE

2 D,BCEA

31 BDCEA

4 D,BACE

Options :

42558941780. 1

42558941781. 2

42558941782. 3
42558941783. 4



Question Number : 7 Question Id : 42558910736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I THE ki ST ® Y ©H o Tel ST o =TT
A, IIY IEE g

B. WY % forwa-&= 1 =9

C. 94 TaUa FI @I FHET

D. O 9l & yd % viuekwiel & ufaae ®1 srema
E. 909 W& S 989 FHEl

= feu U fomredi § | |/E IW T

(1) B,C,D,AE
) D,B,CE A
() B,D,CEA
4 D,BACE
Options :

42558941780. 1
42558941781.2

42558941782. 3
42558941783. 4

Question Number : 8 Question Id : 42558910737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are the characteristics of research ?

It always aims to develop new theory.

It is a scientific process.

Logical reasoning is used in decision making during research process.

Hypothesis testing is done in every kind of research.

mONwp

It collects and analyses evidences to derive findings.
Choose the most appropriate answer from the options given below :
(1) B,CandD Only
(2) A, Band COnly
(3) B,CandE Only
4) C, DandE Only
Options :
42558941784. 1
42558941785.2

42558941786. 3
42558941787. 4



Question Number : 8 Question Id : 42558910737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

iy =1 fafveand #4872

A, T& Hea T fasm = foawfaa 0 @ @e @

B. % U S YR B |

C. ThgeTs T 1 TE v Wi % S fol &9 # fE s &
D.  WERRCTH WeiT Yook TR o Wit F fepan S ¥ |

E.  frersl o1 sgcafa o fag sa ez 1 guem ot favero ffan s &
= feu U fomredi § | |/E IW T ¢

(1) %ae B, C3RD

(2) wHIA A, BIRC

(3) <@ B, C 3RE

(4) @A C, D 3RE

Options :

42558941784. 1
42558941785.2
42558941786. 3
42558941787. 4

Question Number : 9 Question Id : 42558910738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
In which conditions, Karl Pearson's correlation coefficient can be calculated ?
If means of both the variables are equal
If one variable is measured in interval scale and another is measured in ordinal scale
If there is linear relationship between two variables
If data are obtained in interval or ratio scale for both the variables
If direction of relationship between two variables is known
Choose the most appropriate answer from the options given below :
(1) CandDOnly
(2) C DandEOnly
(3) B, DandE Only
4) A CandE Only

mONwp

Options :

42558941788. 1
42558941789. 2
42558941790. 3
42558941791. 4



Question Number : 9 Question Id : 42558910738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fopt feafeai 7 et drord= o Gegrary Ui *1 qReheH fFHar s gewar € ?
A, g FHT =/ % Are e §

B. afc UH =R I Tt THM 3R TR 1 FHGTS THH TR A 06T 2
C. =fgd =’ % o Mas gy ¥

D. Afg 3Hl =\ % fau siiers oT=el s1ere STF9I MM T 9T 2 €
E.  afg gF =/ & dre gy e 91 B

= feu U fomredi § | |/E IW T

(1) %S C HRD

(2) wHIAC, D FRE

() %9 B, D 3RE

(4) oA A, C#RE

Options :

42558941788. 1
42558941789. 2
42558941790. 3
42558941791. 4

Question Number : 10 Question Id : 42558910739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IT :

List- I List - I1
(Context of Research) (Method)
A.  Researcher continues data collection and L Survey

analyses till the satisfactory findings are derived
B.  Study of change in emotional maturity of the II.  Experimental
students with passage of time

Gl Study of the effect of one variable on other III. Developmental
variable in controlled situation

D.  Study of social problems faced by working women IV. Grounded theory

Choose the correct answer from the options given below :

(1) A-IV, B-IIL, C-L, D-1I
(2) A-II, B-1V, C-1I, D-1
(3) A-IV, B-1II, CI, D-1
(4) A-II, B-1IV, G, D-1I
Options :

42558941792. 1
42558941793.2
42558941794. 3
42558941795. 4



Question Number : 10 Question Id : 42558910739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

( viTer T Haw ) (fafar)
A, ViueRE TSl o SRy R . e
+TT & 2R 99 o favermo #=ar §
@ T Fese ekl &l ogeard
&l Bl
B.  WWY %k =qdid 314 o 91 sty . A
HiafTe gftveea H qiad #1 Ssaaq
C. frfmfuffdirRFTR R . e
T 1 AT

D. ST ol grT ArHAT S arett IV. R fagr (UE=s @)
arafse et &1 15994
= feu o fasredi ° 9 WE W A ¢
(1) A-1V, B-III, C-I, D-1I
(2) A B-IV, CI, DI
(3) A-IV, B-II, C-II, D-I
(4) A-I, B-IV, C-1, D-1I
Options :
42558941792. 1
42558941793. 2

42558941794. 3
42558941795. 4

Question Number : 11 Question Id : 42558910740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Under which section of the UGC Act, Inter-University Centres (IUCs) were established ?
(1) 12 (cce)

(2) 12(B)

@) 12()

@) 12(h)
Options :

42558941796. 1
42558941797.2
42558941798. 3
42558941799. 4



Question Number : 11 Question Id : 42558910740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gsiret stfufem =1 for ur % srarfa s=e-gfafde e (srr-fovafamme =) # T #1 77 2
(1) 12 (ccc)

(2) 12(B)

(@) 12 (a)

(4) 12 (h)
Options :

42558941796. 1
42558941797.2
42558941798. 3
42558941799. 4

Question Number : 12 Question Id : 42558910741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Rigveda comprises hymns.
(1) 1028
(2) 10600
(3) 1064
(4) 11300
Options :

42558941800. 1
42558941801. 2
42558941802. 3
42558941803. 4

Question Number : 12 Question Id : 42558910741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ESCCA FEM E |
(1) 1028
(2) 10600
(3) 1064
(4) 11300
Options :

42558941800. 1
42558941801. 2
42558941802. 3
42558941803. 4



Question Number : 13 Question Id : 42558910742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange chronologically the establishment of given digital initiatives :
A.  National Digital Library (N.D.L.)

B.  Shodhganga

C.  Academic Bank of Credit (A.B.C.)

D. DIKSHA

Choose the correct answer from the options given below :
() C.D,B A

20 D,BCA

3) BDA,C

4) BCAD

Options :

42558941804. 1
42558941805. 2
42558941806. 3
42558941807. 4

Question Number : 13 Question Id : 42558910742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fau v fefSes eall 1 HEIA o FHEAHT o FATHR areed i |
A, Fya fefaea aeed (T.dTa.)

B.  WEATW

C. TUHEl® S oMF shfee (TiH.)

D. Fel(fesmF @)
) e T e § A TR S -
(1 CDBA
(2 D.BCA
(3) B, D,AC
(4 B,C A, D
Options :
42558941804. 1
42558941805. 2

42558941806. 3
42558941807. 4



Question Number : 14 Question Id : 42558910743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Major thrusts of National Policy on Education (NPE), 1986, were :

State level planning and coordination through state council for higher education
Expansion of open universities and distance education system

Establishment of National Assessment Centre PARAKH

Conferring autonomous status on selected colleges

Establishment of two multidisciplinary education and research universities (MERU) in each
state

Choose the most appropriate answer from the options given below :
(1) A, CandD Only

(2) C DandE Only

(3) A, Band D Only

4) B,C DandEOnly

mON®p

Options :

42558941808. 1
42558941809. 2
42558941810. 3
42558941811. 4

Question Number : 14 Question Id : 42558910743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foren W T Hifa (wAdE) 1986, F = YUIE & |

A, Seoad e T aftag 3 A ¥ O5g SR AreH- e eIk auaE
B. W foavafermerdl ik g e gomed 1 99R

C. ¥9Fc1 UEHHH= =1 9 &1 T

D. =Efa Herferanedi & @rEd & S ol

E. 9cu U9 H 31 agfamae (e ue vy favafomnedi (THseayg) o1 T
= feu o forepedi H 9 @& T A ¢

(1) e A, C 3R D

(2) FFAC,D FRE

(3) eFEA A, B3R D

(4) o@a B,C, D 3R E
Options :

42558941808. 1
42558941809. 2
42558941810. 3
42558941811. 4



Question Number : 15 Question Id : 42558910744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List - 11
(Institutions of National Importance (INI) Acts) (Year of Enactment)
A.  National Institute of Technology Act L 2017
B. Indian Institute of Management Act II. 191
C.  Indian Institutes of Information Technology Act L. 2007
D.  Institutes of Technology Act V. 2014

Choose the correct answer from the options given below :
(1) A, B-L, C-1V, D-II

(2) A-IL B-1II, C-1IV, D-1

(3) A-LV, B-1, C-1I, D-III

4) A-IL B-1V, C-I, D-III

Options :

42558941812. 1

42558941813. 2

42558941814. 3

42558941815. 4

Question Number : 15 Question Id : 42558910744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
e -1 et - 11

(T WEE & HWee ( afeferam = ad)
(2 T 2g ) arferfram )

A, T drEnfieR drem ettt L 2017

B. N YarHA G AfufTam . 1961

C. R a1 el e sifufam L 2007

D. iR dead srfufam IV. 2014

= feu o fasredi ° 9 WE W A ¢

(1) A-II, B-L C-1V, D-11

(2) A-IL B-III, C-IV, D-1

(3) A-IV, B-l, C-II, D-III

(4) A-IL B-1V, C-[, D-III
Options :

42558941812. 1
42558941813.2
42558941814.3
42558941815. 4



Question Number : 16 Question Id : 42558910745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the full form of ARPANET ?

(1) Advanced Research Project Agency Network
(2)  Advanced Resource Project Agency Network
(3) Applied Research Project Agency Network
(4) American Research Project Agency Network
Options :

42558941816. 1

42558941817. 2

42558941818. 3
42558941819. 4

Question Number : 16 Question Id : 42558910745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SIS JU1 FY 8?7

(1) v=aree Ee Yo TSH J2ad
(2) veaee EE UeE TS q2asn
(3) UwrE fwd AN e ek
(4) Wi i deiEe Tl q2eE
Options :

42558941816. 1

42558941817.2

42558941818. 3
42558941819. 4

Question Number : 17 Question Id : 42558910746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not an element of communication within the communication process
cycle ?

(1) Channel

(2) Receiver

(3) Sender

(4) Time

Options :

42558941820. 1

42558941821.2

42558941822. 3
42558941823. 4



Question Number : 17 Question Id : 42558910746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafiga § @ 9 O 99) 9fFa 95 o it S9N 1 Uk del 78 © 2

(1) =Fa (F|To)
(2) Teger (arfe)
(3) H=T (Jueh)
(4) HHE

Options :

42558941820. 1
42558941821.2
42558941822. 3
42558941823. 4

Question Number : 18 Question Id : 42558910747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following steps in model of listening in sequence :

A.  Interpreting

B. Responding

C.  Remembering
D. Hearing

E. Understanding

Choose the correct answer from the options given below :
1y ECABD

2y DE.CAB

3) D,A,B,CE

4 ABDEC
Options :

42558941824. 1

42558941825. 2

42558941826. 3
42558941827. 4



Question Number : 18 Question Id : 42558910747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
g0 Higel & AT =00 ol 39 H eredd & |
A, TE=R (z=wfén)

B. afFEIm (i)

C. By (=)

D. gam (fesifn)

E. 3@y (SUeefug)

= feu U fosedi ° 9 W& 3T T4
() ECABD

2 DECAB

(3) D, A BCE

4 ABDEC

Options :

42558941824. 1
42558941825.2
42558941826. 3
42558941827. 4

Question Number : 19 Question Id : 42558910748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What are the factors to be considered while selecting a communication media ?

A.  No need to think about receiver
B. Reliability

C. It should be costly

D.  Confidentiality

E.  Availability

Choose the most appropriate answer from the options given below :
(1) A, BandCOnly

(2) B,Cand D Only

(3) C DandEOnly

(4) B,DandE Only

Options :

42558941828. 1

42558941829. 2

42558941830. 3
42558941831. 4



Question Number : 19 Question Id : 42558910748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ek HHR HIE9H o1 =94 id 999 fa=r foru SI9 arel e 1 & 2
A.  Tfes o faua o fa=m = erayaehar et

B.  Taverwram

C. I8 gedaH el =fen

D. T

E  3YeTeal

= feu U foskedi § | W& I A ¢
(1) e A, B3R C

(2) %ad B,C 3R D

(3) %aa C, D3R E

(4) e B,D 3R E
Options :

42558941828. 1
42558941829. 2
42558941830. 3
42558941831. 4

Question Number : 20 Question Id : 42558910749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IT :

List - I List - II
A.  The source is not visible (o the receiver L Technical Barriers to
because of Geographical distance Communication
B. The people are having individual I1. Linguistic Barriers to
differences, motivation and attitude Communication
and anxiety and prejudice
C. With faulty expression, poor translation, IIL.  Psychological Barriers to
ambiguous words Communication
D.  With poor quality of audio and video IV.  Physical Barriers to Communication

signals, the message may not be sent
to target group
Choose the correct answer from the options given below :
(1) A-IV, B-1II, C-1I, D-1
(2) A-IV, B-1, C-1II, D-1I
(3) A-IL B-1, C-1V, D-III
(4) A-l, B-11, C-1, D-1V
Options :
42558941832. 1
42558941833. 2

42558941834.3
42558941835. 4



Question Number : 20 Question Id : 42558910749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

A, e g % FHRoE I HaRH aFH e
mfEs = Hid g9 T ¥

B. @i H safaaa 9=, Afqgwon 3K . H=RH 9 amemd

C. S srfyeafs. fee s M. TR ¥ meeefeE sremd
Higreeder veg

D. e e F 9=9 vd gva gl IV. GaR ¥ oifess sremd
(Toaued) = R Efad JE H 9=
ERERIG]

= feu o fasredi W 9 WE I A ¢

(1) A-IV, B-IL C-II, D-I

(2)  A-IV, B, C-III, D-II

(3)  A-IL, B-I, C-IV, D-III

(4) A-IO, B-I, C-I, DIV

Options :
42558941832. 1
42558941833. 2

42558941834.3
42558941835. 4

Question Number : 21 Question Id : 42558910750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the sum of the first 15 terms of the following series ?
B L R

(1) 1261
@) 1240
(3) 1239
@) 1259

Options :

42558941836. 1
42558941837.2
42558941838. 3
42558941839. 4



Question Number : 21 Question Id : 42558910750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freferfea 4ofi & deet 15 9 =1 =0 = e ?
G L ol RO
(1) 1261
(2) 1240
() 1239
(4) 1259
Options :

42558941836. 1
42558941837. 2
42558941838.3
42558941839. 4

Question Number : 22 Question Id : 42558910751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

; 1 .
A sum of Rs. 10,000 is invested for a term of 25 years at an interest rate of 8% compounded annually.

The amount on maturity will be :
(1) Rs.12520.50

(2) Rs.12024.62

(3) Rs.12130.56

(4) Rs.11664.48

Options :

42558941840. 1

42558941841. 2

42558941842. 3
42558941843. 4

Question Number : 22 Question Id : 42558910751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F93 10,000 i Tek A H 2% a4 o e aiftier =sRdfs 1 8% =S g% 9T foe foran s € | yam-—fata

(H=AIfET) or gfen 2 o
(1) 1252050 T4
(2)  12024.62 %94
(3) 1213056 T4
(4) 11664.48 94
Options :
42558941840. 1
42558941841.2

42558941842.3
42558941843. 4



Question Number : 23 Question Id : 42558910752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the areas for following shapes in descending order of their values :
A.  The area of the curved surface of a cylindrical wire of radius 1.0 mm and length 3.5 cm
B.  The surface of a spherical ball of radius 3.5 mm

C.  The area of a rhombus having diagonals 1.5 cm and 1.8 em

D. The area of a circle of diameter 7.0 mm

Choose the correct answer from the options given below :

(1) D,B,CA

2 ABCD

3 BACD

4 CABD

Options :

42558941844. 1
42558941845.2
42558941846. 3
42558941847. 4

Question Number : 23 Question Id : 42558910752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa sTrfaal o &hel o1 S7eh WAl & Al hH H Heied i |

A, P 1.0mm R T@EE 3.5 cm % T AGER T F G TS H AR
B. 50 3.5 mm %71 U MeFR 2 # g e

C. fa#uil 1.5 cm 3R 1.8 cm 91 T THEqYs 1 AAwd

D

. M 7.0 mm % TFH FA FH A%
) e T e § A TR S -
(1) D,BC A
(2 ABCD
(3) B,ACD
(4) C, A B D

Options :
42558941844. 1
42558941845.2

42558941846. 3
42558941847. 4



Question Number : 24 Question Id : 42558910753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[denlify the correct statement :

256
Al [f2-'f=—;then:c:%

N/

1
-_"’. of 50% of 150 is greater than /576

C. In the merit list of an examination result, the rank of a student is 5" from the top among 20
students. His rank from the bottom of the list is at 15t position

D.  Ina class of 30 students, the average of weights of 20 students is 45 kg and the rest of students
have an average weight of 40 kg. The average weight of the class is 42.5 kg

Choose the correct answer from the options given below :
(1) A,BandCOnly
(2) B,Cand D Only
(3) A, BandD Only
(4) AandBOnly
Options :
42558941848. 1
42558941849. 2

42558941850. 3
42558941851. 4

Question Number : 24 Question Id : 42558910753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

el FHYAT g FL |

256 . 15
X H e
A, A2 s T > Tl

1 g
B. 150 % 50% &1 =, 576 | 91 T

C. U e % 9fomy @i Araa-wE g 6, U 9 o fefa-oFm, 20 o H | o g 5ar € g o
9§ 3qH fufe-%1 159 WA W )
D. 303TAl i Tk el H, 20 S o R 1 6T 45 kg 3 99 ST 71 3090 9740 kg & | T9Y0f FHa

L

o1 ST 9425 kg B
1 feu o foeredi # 9 @& I A ¢
(1) Ree A, B3R C
() %A B, C3RD
() A A, BIRD
(4) IA A 3B

Options :

42558941848. 1
42558941849. 2
42558941850. 3
42558941851. 4



Question Number : 25 Question Id : 42558910754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List -1 List - I1
5 o 1
A.  The numerator of a fraction is increased by L 10

25% and the denominator is increased by 50%

leading to a value of g The original

fraction is

2

B. -‘:ll - 31 = - 11. —
3 2 b

7 : ' 5

C.  The fraction equivalent to 40% is : II1. 6
5 0.064 i 2
’ 325 x320—-320x% 3.05 A

Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-1

(2) A-I, B-1I, C-1IV, D-1

(3) A-IV, B-lIL, C-I, D-1I

4) A-IV, B-IIIL, C-1I, D-1

Options :

42558941852. 1

42558941853. 2

42558941854.3
42558941855. 4



Question Number : 25 Question Id : 42558910754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
T -1 T - 1

» - 1
A. TF BE F m R 25% SR ATl L =
€ 3R B 50% =g = § foad
Hﬁgé’iaﬁl%qaﬁm el
2
s I =
3 "2 5
: 5
C. 40% =1 f=Tremes gedis gl oL
& 0.064 v 2
" 325x3.20-23.20%3.05 =
= feu Tu foeredi | 9 W& I A ¢

(1) A-IL B-II, C-IV, D-1
(2) A-I, B-II, C-1V, D-1
(3) A-IV, B-1II, C-I, D-II
(4) A-IV, B-III, C-1I, D-1

Options :

42558941852. 1

42558941853.2

42558941854. 3
42558941855. 4

Question Number : 26 Question Id : 42558910755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Vyapti in Indian Logic refers to :
(1) Logical contradiction
(2) Direct perception
(3) Invariable concomitance
(4) Verbal testimony

Options :

42558941856. 1

42558941857.2

42558941858. 3
42558941859. 4



Question Number : 26 Question Id : 42558910755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YR ok | oA fAfas #d © ¢
(1) TFHE dfqare

(2)  HIET ToHe

(3) Traa =

(4) wTfesF gAY

Options :

42558941856. 1
42558941857.2
42558941858. 3
42558941859. 4

Question Number : 27 Question Id : 42558910756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a categorical proposition, the subject and predicate are connected by :
(1) A question

(2) A fallacy

(3) Acopula

(4) A mood
Options :

42558941860. 1
42558941861. 2
42558941862. 3
42558941863. 4

Question Number : 27 Question Id : 42558910756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

we freurfeess gfagia |, fowa &R fada d9ifsd 8id € -

(1) TF ¥H 5N
(2) UH T gN
(3) TF AF GH
(4) U fa=ma g

Options :

42558941860. 1
42558941861.2
42558941862. 3
42558941863. 4



Question Number : 28 Question Id : 42558910757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the steps of evaluating a deductive argument :
A.  Assess the truth of premises

B.  Identify premises and conclusion

C.  Testlogical structure

D. Determine soundness

Choose the correct answer from the options given below :
(1) A BCD

2 ACBD

3) BCAD

4 D,BA,C

Options :

42558941864. 1
42558941865. 2
42558941866. 3
42558941867. 4

Question Number : 28 Question Id : 42558910757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e TS TF & Yodich & =0 1 A F1
A. RIS % T 1 FER

B. eenfiemisii 3R SUHeR 1 aereHiER
C. dehHerd GTHAT 1 Haro

D. T2 & g

1 fau o fasredi o | wWé s A -

(1) ABCD

(2 ACBD

(3) B,CAD

(4 D,B,AC

Options :

42558941864. 1
42558941865. 2
42558941866. 3
42558941867. 4



Question Number : 29 Question Id : 42558910758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are considered as fallacies of relevance ?
A, Ad hominem

B. False cause

C. Straw man

D.  Red herring

Choose the most appropriate answer from the options given below :
(1) AandD Only

(2) Band COnly

(3) A, CandD Only

4) A, B,and COnly

Options :

42558941868. 1
42558941869. 2
42558941870. 3
42558941871. 4

Question Number : 29 Question Id : 42558910758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafea & #F § yrEfTwa & TEHam 711 99 © |

A, T &Y (TS BifHE)

B. THeamRRU

C. Wi

D. TYEzfm

feu T fosredi o 9 W A ¢

(1) oFFA A AR D

(2) FFABERC

(3) FaA A, CIRD

(4) FFA A, BIARC
Options :

42558941868. 1
42558941869. 2
42558941870. 3
42558941871. 4



Question Number : 30 Question Id : 42558910759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List- 11
A.  Asiddha L. Irrelevant middle term
B. Badhita IL Unproven middle term
C. Viruddha [lIl. Contrary middle term
D.  Savyabhicharra IV. Contradicted middle term

Choose the correct answer from the options given below :
(1) A-L B-I, C-IL D-IV

(2)  A-IL B-1V, C-1II, D-I

(3) A-IL B-1II, C-1, D-IV

(4) Al B-1V, CI, DI

Options :

42558941872. 1

42558941873. 2

42558941874.3
42558941875. 4

Question Number : 30 Question Id : 42558910759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
e -1 T - 11

b farawor
A, HES O 1 121 £ c = o e 4
B. arfud M. fHg 7988 Q¢
Cc. faxs . fooda 7 0
D. HEAER V. I 58 98
= feu U fasedi | 9 wE I A ¢

(1) A-I B-II, C-1II, D-IV
(2) A-IL B-IV, C-1II, D-1
(3) A-II, B, C-I, D-IV
(4) A-l, B-1V, C-1I, D-1

Options :

42558941872. 1

42558941873.2

42558941874.3
42558941875. 4



Question Number : 31 Question Id : 42558910760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
To experience the educational value, one must extract its net meaning through :
(1) Reflections
(2) Communication
(3) Consequences
(4) Decisions
Options :
42558941876. 1
42558941877. 2

42558941878. 3
42558941879. 4

Question Number : 31 Question Id : 42558910760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Herforer gl F eryE & feg, s @19 o1 Frepd fepan st =nfew
(1) faai & A 9
(2) HER % AW 9
(3) ORI % w9
(4) Tqoii o Arem g

Options :

42558941876. 1
42558941877. 2
42558941878. 3
42558941879. 4

Question Number : 32 Question Id : 42558910761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The study of how the mind creates knowledge has resulted in what are currently referred to as

view of Education.

(1) Pragmatic

(2) Idealistic

(3) Metacognitive

(4) Constructive
Options :

42558941880. 1

42558941881. 2

42558941882. 3
42558941883. 4



Question Number : 32 Question Id : 42558910761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AiEaek {79 9T F1 F1 G HA1 ¢, 96 ST IO H fwew ok gfteerior |
aAaE H g=ida o1 S )
(1) TSR
(2) areTfeTal
(3) SfUEIETHS
(4) TEARHE
Options :

42558941880. 1
42558941881. 2
42558941882. 3
42558941883. 4

Question Number : 33 Question Id : 42558910762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in sequence as they are introduced in increasing order of age of the students :
A.  Taxonomy of Educational Objectives

B.  Team Teaching

C.  Personalised system of Instructions

D.  Concept of Interaction model of Teaching

Choose the correct answer from the options given below :
() A,D,BC

2y B AD,C

3 CADB

4 CDAB

Options :

42558941884. 1
42558941885.2
42558941886. 3
42558941887. 4



Question Number : 33 Question Id : 42558910762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

DI 13U 6 ded A H fEfafed Tl g qd o S % 980 0 | sqafeerd ®i |
Yerfores SRl = AR fas

i oIeE|

AN 1 AFTIR IR JOTE

D. 3¥A9H & AR Hisel 1 9cad
A few T forre 6 B R SR

(1) A, DBC

() B, AD,C

(3) C, A DB

(4 CD,AB

Options :

42558941884. 1
42558941885.2
42558941886. 3
42558941887. 4

N ® p

Question Number : 34 Question Id : 42558910763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find out the ‘'RIGHT’ combinations below :

A.  Learning a second language takes little time and efforts - Myth
B. All bilinguals easily maintain both languages - True

L Learning a second language takes little time and efforts - True
D.  All bilinguals easily maintain both languages - Myth

Choose the correct answer from the options given below :

(1) AandD Only

(2) Band COnly

(3) Aand BOnly

(4) CandDOnly
Options :
42558941888. 1
42558941889. 2
42558941890. 3
42558941891. 4



Question Number : 34 Question Id : 42558910763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e wE GErsHi T

A, fadfa s o ey 5w TvE iR yETg S R -
B. et Ty Tarar | ST WrWied] F SFE G B -
C. Tgdm v = siferm &9 T SR WA o ¥ 1 - 9
D. |l fgurdh |3eran | SH1 9raie w1 STE Hd ¢ | -
9 feu o fased § | wé s oA

(1) FFa AR D

(2) % B3R C

(3) HIA A R B

(4) Fa@ C 3R D
Options :

42558941888. 1
42558941889. 2
42558941890. 3
42558941891. 4

Question Number : 35 Question Id : 42558910764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - I :

A,

B.

&%

D.

List -1
Goals are decided in the context of the
needs of a nation

Feedback is obtained at local level

Team Teaching

Time for completion of a task is same for all students

Choose the correct answer from the options given below :

(1)
2)
3)
()

A-1V, B-II, C-1, D-1II
A-1V, B-1II, C-[, D-I1
A-II, B-1, C-IV, D-III
A-II, B-1, C-1V, D-II

Options :

42558941892. 1
42558941893.2
42558941894. 3
42558941895. 4

IIL

List - I1
Modern Teaching
Technology

Traditional Teaching
Technology

Instructional Technology

Educational Technology



Question Number : 35 Question Id : 42558910764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
et -1 Tt - 11

A, @ H TE T H [ STfTeR 7= et
AR F T
¥ freifa foen <an &
B. yfoqfte ©Ia TR W A € L URTIRE STEAT9 Ui
C. &m s M. 3TRTCH Yrarfirent
D. frdiwd Fammregfemm v, Jeiforer deifrr
Tr |l g o o gam
= feu U fosredi § | |/E IW T ¢

(1) A-IV, B-II, C-I, D-III
(2) A-IV, B-lII, C-I, D-Il
(3) A-IL B-1, C-IV, D-III
(4) A-Il, B-L, C-1V, D-I

Options :

42558941892. 1

42558941893.2

42558941894. 3
42558941895. 4

Question Number : 36 Question Id : 42558910765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An IP address consists of a :
(1) 16 - bit integer
(2)  32-bit integer
(3) 64 - bit integer
(4) 96 - bit integer
Options :
42558941896. 1
42558941897. 2

42558941898. 3
42558941899. 4



Question Number : 36 Question Id : 42558910765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T 3edl @‘H HEae:
(1) 16 - foz gois
(2) 32-foe goiw
(3) 64 - faz guis
(4) 96 - faz guie

Options :

42558941896. 1
42558941897. 2
42558941898. 3
42558941899. 4

Question Number : 37 Question Id : 42558910766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

CD - ROM stands for :
(1) Compressed Disk Read Only Memory
(2) Compact Device for Reading out Messages
(3) Compact Device for Read/Write Over Mobiles
(4) Compact Disk Read Only Memory
Options :

42558941900. 1
42558941901. 2

42558941902. 3
42558941903. 4

Question Number : 37 Question Id : 42558910766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e m g e

(1) =FrEe femp fe &M el Ja
(2) i feary wr Gfen smee foey
(3) e fearsq wR de/Aee er Hane
(4) HFe fewr O smel Tud

Options :

42558941900. 1
42558941901. 2
42558941902. 3
42558941903. 4



Question Number : 38 Question Id : 42558910767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Choose the " WRONG' statement :

A.  Machine Language is a low level language

B. 'FORTRAN'is a high level language

C.  'Cis alow level language

D. “SQL’ is a low level language

Choose the correct answer from the options given below :
(1) AandBOnly

(2) Band COnly

(3) AandCOnly

(4) CandDOnly
Options :

42558941904. 1
42558941905. 2
42558941906. 3
42558941907. 4

Question Number : 38 Question Id : 42558910767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T e T

A, T 91 U e am e
B. ‘wigh' us s=rlid W el
C. ‘Hi’ e fremds am 2

D. ‘wHFUA’ UF el o
= feu o fomredi O | W@ SR A -
(1) ©°FFa A 3R B

(2) FFABERC

(3) Fa9 A 3RC

(4) FF@ C RD
Options :

42558941904. 1
42558941905. 2
42558941906. 3
42558941907. 4



Question Number : 39 Question Id : 42558910768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Choose the correct statements :

A.  MS-Word saves the files in “.doc” format

B. SQL server is a local network server

C. 'MATLAB is a mathematical software

D.  Bootstrap loader is an example of entertainment software
Choose the correct answer from the options given below :

(1) AandBOnly

(@) AandCOnly

(3) CandDOnly

4) AandD Only

Options :

42558941908. 1
42558941909. 2
42558941910. 3
42558941911. 4

Question Number : 39 Question Id : 42558910768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el A T4 |
A. THUE 9€ BREAl Fl.doc’ IEY H T A1 T
B. UHHUE Wl UF Ghel Heeeh Hel €|
C. ‘Hedta’ U Mg GRS T
D. &Y TN, T=IcTHe Tt R & UF el ¢

= feu o fomredi O | W@ SR A -
(1) ©°Faa A SR B
(2) ¥ A 3RC
(3) %94 C $RD
(4) FFA A IRD
Options :

42558941908. 1
42558941909. 2
42558941910. 3
42558941911. 4



Question Number : 40 Question Id : 42558910769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - 11 :

List - I List - IT
(System Name) (Year/Time period)
A.  The Mark [ computer L 1951
B. IBM-701 II. 1953
C. IBM-650 [IL  1937-44
D.  The Universal Automatic Computer IvV. 1952

One (UNIVAC-1)
Choose the correct answer from the options given below :
(1)  A-I, B-IV, C-11, D-I
(2) A-IL B-1II, C-1, D-IV
(3) AL B-II C-1V, D-II
4) A-IV, B-1, C-11, D-I1I
Options :
42558941912. 1
42558941913. 2

42558941914.3
42558941915. 4

Question Number : 40 Question Id : 42558910769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et - 1o Gt - 1 At
et -1 T - 11

(fa=m @ 7 m) ( =/ Tarafy)
A. W [ HER . 1951
B. STEeiuH - 701 . 1953
C. STEeH - 650 . 1937 - 44
D. T gArede SeHies Frgel 99 (FArE - IV. 1952
1 feu o fammedi § | W@ SR g ¢

(1) A-l, B-1V, C-1I, D-1
(2) A-IL B, C-I, D-IV
() A-I, B-II, C-IV, D-III
(4) A-IV, B-L, CI, D-1II

Options :

42558941912. 1

42558941913.2

42558941914. 3
42558941915. 4



Question Number : 41 Question Id : 42558910770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
When was the Paris agreement adopted ?
(1) 5 October 2020
(2) 12 December 2015
(3) 7 November 2018
(4) 8 July 1998
Options :
42558941916. 1
42558941917. 2

42558941918. 3
42558941919. 4

Question Number : 41 Question Id : 42558910770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ufrm Tl 1 e s TR T ?
(1) 5 3WER=a 2020
(2) 12 fgmm@R 2015

(3) 7 Faw 2018
(4) 8 [eIrE 1998

Options :

42558941916. 1
42558941917. 2
42558941918. 3
42558941919. 4

Question Number : 42 Question Id : 42558910771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many Millenium Development Goals (MDG) were adopted by United Nations ?
1 8

@ 7

@G >

(4) 10
Options :

42558941920. 1
42558941921.2
42558941922. 3
42558941923. 4



Question Number : 42 Question Id : 42558910771 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T T g1 T weefes( fucifram) fasmg wieg (waeish) it fore o 2

(1 8
@ 7
(@) 5
(4) 10
Options :

42558941920. 1
42558941921.2
42558941922. 3
42558941923. 4

Question Number : 43 Question Id : 42558910772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the phases of life cycle analysis for information on environmental effects of products (from
first to last) :

A. Inventory

B. Initiation

C. Impact

D. Improvement

Choose the correct answer from the options given below :
(1) ABDC

2y CDA,B

3) D,CBA

4) BACD

Options :

42558941924. 1
42558941925.2
42558941926. 3
42558941927. 4



Question Number : 43 Question Id : 42558910772 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

JqE] o TATERUE GHE 9 G o g Sie =5k oo s wrerensdi o (Tee § Sf<m H) sHafted
o |

A, SR g (3R

B. R (EAfauyM)

C. 99H (FHER)

D. ¥¥R (3H=)

1 feu o faredi # 9 wE S A ¢

(1) A,B,D,C
@) CDA,B
3) D,CB,A
(4) B,ACD

Options :
42558941924. 1
42558941925. 2

42558941926. 3
42558941927. 4

Question Number : 44 Question Id : 42558910773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For disaster management, following processes must be adopted :

A.  Training
B. Migration
C. Mitigation
D. Response
E. Detection

Choose the correct answer from the options given below :
(I) BandCOnly

(2) BandEOnly

(3) A BandCOnly

4) A CDandEOnly
Options :

42558941928. 1

42558941929. 2

42558941930. 3
42558941931. 4



Question Number : 44 Question Id : 42558910773 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a1 gaeF & o ffafas gfsmen 1 sromn s =fee

A, Hfem

B. A0/ HEEA

C. YSWA/~gAIHTm

D. fwa

E. ¥

= feu o faskredi § 9 W& T A ¢

(1) oFEa B 3R C

(2) aA B3R E

(3) oad A, B 3R C

(4) oA A, C, D3R E
Options :

42558941928. 1
42558941929. 2
42558941930. 3
42558941931. 4

Question Number : 45 Question Id : 42558910774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Match List - I with List - IT :

List - 1 List - 11
(Ecosystem) (Biogeographic Realms)
A. FEurasia L. Neotropical realm
B.  South and South East Asia II.  Palearctic realms
C.  North America III. Nearctic realm
D. South America IV. Oriental realm

Choose the correct answer from the options given below :
(1) A-IL B-1V, C-1II, D-I

(2) A-IL B-1, C-lII, D-1V

(3) A-I, B-1V, C-L, D-II

4) A-IL B-III, C-IV, D-1

Options :

42558941932. 1

42558941933.2

42558941934. 3

42558941935. 4



Question Number : 45 Question Id : 42558910774 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt - 131 =it - 1 gafer
= - 1 = - 1

( ofiferfaent o) ( Srasdimiifer &)
A, gifgEn . freieifuea ax
B. <famudfam-vd w11 SfcsweRfew &
C. I i@ 1. TyeTeRfes &=
D. &l sHfeER Iv. 3ffto=a &=
= feu o famedi § 9 wE SR A

(1) A-IL B-IV, C-1II, D-1
(2) A-IL B, C-1I, D-1IV
(3)  A-II, B-1V, C-I, D-II
(4) A-IL B-II C-IV, D-1

Options :

42558941932. 1

42558941933.2

42558941934. 3

42558941935. 4

Sub-Section Number : 3
Sub-Section Id : 425589427
Question Shuffling Allowed : No



Question Id : 42558910775 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)

Read the following passage and answer the questions :

A person who takes the trouble to form his own o pinions and beliefs, will feel that he owes no
responsibility to the majority for his conclusions. If he is a genuine lover of truth, if he is inspired by
a passion for seeing things as they are and an abhorrence of holding ideas which do not conform to
facts, he will be wholly independent of the assent of those around him. When he proceeds to apply
his beliefs in the practical conduct of life, the position is different. There are then good reasons why
his attitude should be less inflexible. The society in which he is placed is an ancient and composite
growth. The people from whom he dissents have not come by their opinions, customs and by a
process of mere haphazard.

These opinions and customs all had their origin in a certain real supposed fitness. They have
certain depth of root in the lives of a proportion of the existing generation. Their congruity with one
another may have come to an end. That is only one side of the truth. The most zealous propagandism
cannot penetrate to them. In common language, we speak of a generation as something possessed of
a kind of exact unity, with all its parts and members homogenous. Yet, plainly it is not this. [t is a
whole but a whole in a state of constant flux, its factors and elements are eternally shifting. It is not
one but many generations.

Sub questions

Question Number : 46 Question Id : 42558910776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A genuine lover of truth will :
(1) appreciate the quality of food

(

3)  criticise what he does not like

3

) make compromise with situation

—

(4)  be wholly independent of the assent of those around him
Options :
42558941936. 1
42558941937.2
42558941938. 3
42558941939. 4

Question Number : 47 Question Id : 42558910777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the passage, customs and traditions originate from :
(1) Conilicts of life

(2) Ignorance

(3) The old generation

(4) Beliefs

Options :

42558941940. 1

42558941941. 2

42558941942. 3
42558941943. 4

Question Number : 48 Question Id : 42558910778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to the author, a generation is a whole but it is always :
(1) Constant

(2) Growing

(3) Homogeneous

(4) Heterogeneous
Options :

42558941944. 1

42558941945. 2

42558941946. 3
42558941947. 4

Question Number : 49 Question Id : 42558910779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

One’s position is usually different when a person

(1) turns a deaf ear to what others say

(2)  pays attention to what people say

(3)  proceeds to apply his beliefs in the practical conduct of life
(4) remains ignorant of happenings around him

Options :

42558941948. 1

42558941949. 2

42558941950. 3
42558941951. 4

Question Number : 50 Question Id : 42558910780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the author, the attitude of self - opinionated person in the practical social life should
be:

(1) flexible

(2) rigid

(3) indifferent

(4) proactive

Options :

42558941952. 1

42558941953.2

42558941954. 3
42558941955. 4



Question Id : 42558910775 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Freferfiae weror &t ug offt wvsi & e i

T AT S 3 =E F faERl o 7t F i @ we 3o €, 9 TW e w2 fE sEe
frepel o fore srggere Wa & fa sHe $IE Teifae 6 © 1 afe 9% 9w 1 agrd 9 7, afs 9w sl
A /eregett 1 SH W | <@ S o § SR 9@ % ST ey A e arel faeri o uror % ufh sreaa/fagy
T Uftd 2, o o8 gl ®9 | A9 =W AR F A0 1 Henfd § qEH 8| e 98 Sied % Saeiis A H
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e F1 FH HR ol =1ed | 9 59 Farst § © o WreH & 6 foehmd €19 o {5 e srmenfd
H T, 39k faam iR TR Fad am § 78 ura gu e
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Sub questions

Question Number : 46 Question Id : 42558910776 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e o U e U

(1) TS i T[OTE 1 GET A |

(2) ffefa o | |Eeia 0|

(3) N SH YEE Tl ¢ SHH! A=A HOT |

(4) 3194 =N SR % S R WeHld | qUi ®9 9 Hod S
Options :

42558941936. 1
42558941937.2
42558941938. 3
42558941939. 4

Question Number : 47 Question Id : 42558910777 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIS 3 STTER TR 3R Y S o ¥ |

(1) A& gE o

(2) AT 4

(3) e

(4) fogami 4
Options :

42558941940. 1
42558941941.2
42558941942. 3
42558941943. 4

Question Number : 48 Question Id : 42558910778 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

oS % IFER, UF 1E T € W 9 ;

1 feag

(2) gz

(3) TIARET

(4) faorda e
Options :

42558941944. 1
42558941945.2
42558941946. 3
42558941947. 4

Question Number : 49 Question Id : 42558910779 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

w At i feafa wmr w9 § fa= 2t & o o =t

(1) TELF Fea € T G F A |

(2) I R €, 39 W A oA €

(3) A % AR SR § o favardi 1 SwEn i #
(4) 39 SEUH 1 SR % Wi S @ €

Options :

42558941948. 1
42558941949.2
42558941950. 3
42558941951. 4

Question Number : 50 Question Id : 42558910780 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TES % STIER, 3 e e %1 =R Saer SAmeie Qe sied § e =1t |
(1) =

(2) #ER

(3) SEEMA/AEE
(4) su-gfEa
Options :

42558941952. 1
42558941953.2
42558941954. 3
42558941955. 4

Yoga
Section Id : 425589148
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 425589428
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 42558910781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Upanisad related to pipaladi branch of Artharvaveda

1. Ishavasyopnisad
2. Kenopnisad

3. Prashnopnisad
4. Mundakopnisad
Options :
42558941956. 1
42558941957. 2
42558941958. 3
42558941959. 4

Question Number : 51 Question Id : 42558910781 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fereee =i e vmar § Wrag sufue ¥
1. SmarEaig

2. FAMHYE

3. WM

4. TUSHMAIS

Options :

42558941956. 1
42558941957.2
42558941958. 3
42558941959. 4

Question Number : 52 Question Id : 42558910782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Tulsidas ji, siddha cannot visualize God inside them, without -

1. Radha Krishna
2. Sitaram

3. Bhavani Shankar
4. Lakshmi Vinayaka
Options :

42558941960. 1
42558941961. 2
42558941962. 3
42558941963. 4



Question Number : 52 Question Id : 42558910782 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qafaerg & o ER foaae fomm fog or a9 a1y frora Sva 1 =1l <@ I |

1. Ten-Fe
2. Hrar™
3. 9EF-YiE
4.  eHi-foAms
Options :

42558941960. 1
42558941961. 2
42558941962. 3
42558941963. 4

Question Number : 53 Question Id : 42558910783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many types of Vipashyna are there according to Sandhinirmochan?

1., 2
2 4
2. 3
4.5
Options :

42558941964. 1
42558941965. 2
42558941966. 3
42558941967. 4

Question Number : 53 Question Id : 42558910783 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gffrei=A % JFaR faava & fha yFr €72

L
2
3.

1w e R

4.
Options :
42558941964. 1
42558941965. 2
42558941966. 3
42558941967. 4



Question Number : 54 Question Id : 42558910784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is dependent on each other as per Narad Bhakti Sutra?

1. Karma & Jnana
2. Jnana & Bhakti
3. laya & Jnana
4. Bhakti & Karma
Options :
42558941968. 1
425589419609. 2
42558941970. 3
42558941971. 4

Question Number : 54 Question Id : 42558910784 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ARGl G o SATHR FIF T qEL W 0 82

1. ®HHTEIH

2. M ud dfe

3. @AW AA

4. 9foa wd *H
Options :

42558941968. 1
42558941969. 2
42558941970. 3
42558941971. 4

Question Number : 55 Question Id : 42558910785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What can not be attained with buddhi and listening as per Kathopnisad?

1. Aatma

2. lJiva

3. Dharma

4. Adharma
Options :

42558941972. 1
42558941973.2
42558941974. 3
42558941975. 4



Question Number : 55 Question Id : 42558910785 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FIMIFIE F IER g T oI g1 F A a7 e 2

1. a7em
2. S|
3. ud
4., e

Options :

42558941972. 1
42558941973. 2
42558941974. 3
42558941975. 4

Question Number : 56 Question Id : 42558910786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

By whom one can overcome through Avidhya, according to Ishowasyoupnisad?

1. Karma
2. Mrityu
3. Amrit
4. Dharma
Options :

42558941976. 1
42558941977.2
42558941978. 3
42558941979. 4

Question Number : 56 Question Id : 42558910786 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SmarETafg o SITER SR § fHeRT IR #d € 2

8
2,
3.

19414

4.
Options :
42558941976. 1
42558941977.2
42558941978. 3
42558941979. 4



Question Number : 57 Question Id : 42558910787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which guestion of Prashnopanisad describes “Prana originates from what and how it enters in the body”?

1. First

2. Second

3. Third

4. Fourth
Options :

42558941980. 1
42558941981.2
42558941982. 3
42558941983. 4

Question Number : 57 Question Id : 42558910787 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g g0 foRed Seu= BT R, 29 T W ofar ' 9% yeArafae o i | 99 © 7

L HH

2. Tfxd=
3. M

4. =@

Options :

42558941980. 1
42558941981.2
42558941982. 3
42558941983. 4

Question Number : 58 Question Id : 42558910788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tapa for achieving ‘Satkara’ is

1. Satvik
2. Rajas
3. Tamas
4. Baudhik
Options :
42558941984. 1
42558941985. 2
42558941986. 3
42558941987. 4



Question Number : 58 Question Id : 42558910788 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e o Tore femanm < aren @9 &
1. Hifees
2, RUEES
3. aHe
4. difgH
Options :
42558941984 1
42558941985, 2

42558941986. 3
42558941987. 4

Question Number : 59 Question Id : 42558910789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is subtle Prapanchabhidhayaka in Pranava?

1. Akaar

2. Ukaar

3. Makaar

4, Ardhamatra
Options :

42558941988. 1
42558941989. 2
42558941990. 3
42558941991. 4

Question Number : 59 Question Id : 42558910789 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

worE | geH GUSHI T i § ?
1. FER
2. TEHR
3.  HHK
4. SEEN
Options :

42558941988. 1
42558941989. 2
42558941990. 3
42558941991. 4



Question Number : 60 Question Id : 42558910790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many stages of Yoga are there according to Yogatattvoupnisad?

1. 3
2. 4
3 5
4. 6
Options :

42558941992. 1
42558941993.2
42558941994. 3
42558941995. 4

Question Number : 60 Question Id : 42558910790 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

APT-aafTuE F SER AR 6 fra s € ?

1. @+
2. ER
3. N
4 |

Options :

42558941992. 1
42558941993. 2
42558941994. 3
42558941995. 4

Question Number : 61 Question Id : 42558910791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Dhyanayoga diminishes biggest like a mountain -
1. Karma
2. Adharma
3. Paapa
4, Punya
Options :

42558941996. 1
42558941997.2
42558941998. 3
42558941999. 4



Question Number : 61 Question Id : 42558910791 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

G A Ued % U 9T el T

1. =H
2. ayH
3, g
4. g™
Options :

42558941996. 1
42558941997.2
42558941998. 3
42558941999. 4

Question Number : 62 Question Id : 42558910792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is not a Pranayama, according to Yogkundalyaoupnisad?

1. Seetkari
2. Sheetali
3. Ujjayi
4, Kewal
Options :

42558942000. 1
42558942001. 2
42558942002. 3
42558942003. 4

Question Number : 62 Question Id : 42558910792 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT UEHAfTE & STTHR WA 98 e € |
1. e
2. iden
3. U
4.  Fad

Options :

42558942000. 1
42558942001. 2
42558942002. 3
42558942003. 4



Question Number : 63 Question Id : 42558910793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Good characteristics of human body according to Patanjala Yoga Sutra are —

1. Compact built like Vajra, Roopa, Deh, Bala
2. Compact built like Vajra, Roopa, Lavanya, Bala
3. Deh, Roop, Lavanya, Bala
4. Buddhi, Roop, Lavanya, Bala
Options :
42558942004. 1
42558942005. 2
42558942006. 3
42558942007. 4

Question Number : 63 Question Id : 42558910793 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AreSeA- AT H YRR T e E-gme € )
1. o9 % 99 97, ¥, <8, 99
2. 99 % 99 9, ¥4, A9, 99
3. <T@ ®, aEvE, 9d
4.  9fg, ®Y, dEvE, T

Options :

42558942004. 1

42558942005. 2

42558942006. 3

42558942007. 4

Question Number : 64 Question Id : 42558910794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In absence of Trishna in the Guna of Prakrtiti from the khyati of purusha known as according to
patanjal-yoga-sutra.

1. Kaivalya

2. Abhyasa

3. Vairagy

4. Ekatatva
Options :

42558942008. 1
42558942009. 2
42558942010. 3
42558942011. 4



Question Number : 64 Question Id : 42558910794 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

rStel- AN % STER GEY i @Al | Ypfa o il # g & STee 9 ed € 7

1.  Fa
2. ™
3. WY
4. UHd

Options :

42558942008. 1
42558942009. 2
42558942010. 3
42558942011. 4

Question Number : 65 Question Id : 42558910795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ability of self (body) and ability of self-regulation (soul) according to Patanjala Yoga Sutra is due to

1. Samyoga
2. Sahyoga
3. Drishya
4, Maya
Options :

42558942012. 1
42558942013.2
42558942014. 3
42558942015. 4

Question Number : 65 Question Id : 42558910795 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IS AN % STTER wEeifad SR wfieiad S 6 Ty Wit o R a4 § 7

1. HEm
2. TEm
3. ™
4. Hm

Options :

42558942012. 1
42558942013.2
42558942014. 3
42558942015. 4



Question Number : 66 Question Id : 42558910796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Yogi can diminish his Kleshas and Karmas through -

1. Vidya

2. Jnana

3. Vairagy

4. Dharmamedha Samadhi
Options :

42558942016. 1
42558942017.2
42558942018. 3
42558942019. 4

Question Number : 66 Question Id : 42558910796 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

At o el S KAl o A R 9 B e ?
1. fem=n

2. §H

3. Ry

4. gHhy oy

Options :

42558942016. 1
42558942017. 2
42558942018. 3
42558942019. 4

Question Number : 67 Question Id : 42558910797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to Gherand Samhita, how many times umblicus should be in contracted towards back, for
Agnisaar?

1. 50
2. 100
3. 200
4. 150
Options :

42558942020. 1
42558942021. 2
42558942022. 3
42558942023. 4



Question Number : 67 Question Id : 42558910797 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ue-Gfedr & TR 1Y $1 fofae 91 HETE & Y T FA &1 A0 49if Fea €72
1. 50

.5 100

3. 200

4. 150
Options :

42558942020. 1
42558942021. 2
42558942022. 3
42558942023. 4

Question Number : 68 Question Id : 42558910798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is the correct sequence of 12 petalled lotus according to Gherand Samhita?

1. HaKsha Ma LaVa Ra Ha Sa Kaha Fre Yun La
2. Ksha Ha Ma LaVa Sa Ha Fre Yun La Ra Ham
3. Ha Sa Ksha Ma La Va Ra Yun Ha Sa Kha Fren
4., Ha La Ksha Ma Sa Ra Va Yun Ha 5a Kha Fren

Options :

42558942024 1

42558942025. 2

42558942026. 3

42558942027. 4

Question Number : 68 Question Id : 42558910798 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

*RUE-Hfgdl & STHR GIeY orgad HHA-Td A HE § 87
1. THHAIIEIEEHIT

2. HEA@AIHEHGAILE

3. THHRAAIIETEH
TAGAFIdIETEH

e

Options :

42558942024. 1
42558942025.2
42558942026. 3
42558942027. 4



Question Number : 69 Question Id : 42558910799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The sequence of Mahamudra practice as per Hatharatnavali is —

1. Bend left leg, holdright leg, raise your head.
2. Straight left leg, bend right leg, Jalandhar bandh.
3. Bend left leg, straight right leg, Jalandhar bandh.
4. Bend right leg, straight left leg, Mahabandha.
Options :
42558942028. 1
42558942029. 2
42558942030. 3
42558942031. 4

Question Number : 69 Question Id : 42558910799 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSTATEEN o STTHR HeTHR] T ol HH FdT g ?
1. o= RS, IE F S, WIW

2. @ W T, S HEl, S a9

3. o U A, A I, ST 9

S T e, S i, were

e

Options :

42558942028. 1
42558942029. 2
42558942030. 3
42558942031. 4

Question Number : 70 Question Id : 42558910800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Pranayama eliminates Kapaha Roga & induces gastric fire according to Hathayogpradipika?

1. Surya Bhedana

2. Sheetali

3. Ujjayi

4. Sheetkaari
Options :

42558942032. 1
42558942033.2
42558942034. 3
42558942035. 4



Question Number : 70 Question Id : 42558910800 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSI UeRT % STER FHeI <Y i g¥ FL ael SIS F Wi T el qromar iy € 2

1. a9
2. Yiaen

3. ISl

4, Hiepd

Options :

42558942032. 1
42558942033. 2
42558942034. 3
42558942035. 4

Question Number : 71 Question Id : 42558910801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which pro-vitamin is converted into Vitamin A inside the body?

Carotene
Beta-Carotene
Thiamine

4. Cyanocobalamine

W e

Options :

42558942036. 1
42558942037. 2
42558942038. 3
42558942039. 4

Question Number : 71 Question Id : 42558910801 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4 Ht 0o sz % s foerfas ‘v’ o ftefda @ s e

1. HEA

2. e - FEA
3. gEEa

4.  WTEARETTEA

Options :

42558942036. 1
42558942037.2
42558942038. 3
42558942039. 4



Question Number : 72 Question Id : 42558910802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Junction between two neurons is called as —

1. Nephron
2. Nerve
3. Neurotransmitter
4. Synapse
Options :

42558942040. 1
42558942041.2
42558942042. 3
42558942043. 4

Question Number : 72 Question Id : 42558910802 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

< U F Heg gl A Fed €
1. HH (FFA)
2. e
3. = e
4.  GrEAw (STadYEE)
Options :

42558942040. 1
42558942041. 2
42558942042. 3
42558942043. 4

Question Number : 73 Question Id : 42558910803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Functional Residual Capacity of Lungs is -

1. Minimal Volume + Residual Volume
2. Expiratory Reserve Volume + Residual Volume
3. Inspiratory Reserve Volume + Tidal Volume
4. Expiratory Reserve Volume + Tidal Volume
Options :
42558942044. 1
42558942045. 2
42558942046. 3
42558942047. 4



Question Number : 73 Question Id : 42558910803 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 1 FRareTe e d e ?

1. fofre emaes + SaEeA

2. TE% ARfHA Sgad + SeTdaA

3. 9 SANHd A™AH + WHEA Y99 S
4. o ARfad ST + WY Y99 2T

Options :

42558942044. 1
42558942045. 2
42558942046. 3
42558942047. 4

Question Number : 74 Question Id : 42558910804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How many stages are there in Non Rapid Eye Movement (NREM) sleep?

1.
2.1
3.1
4. 1V
Options :

42558942048. 1
42558942049. 2
42558942050. 3
42558942051. 4

Question Number : 74 Question Id : 42558910804 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F1dte 3 Tifer g1 =61 fehat oTeemd B € 2

. &
2 9
3. @A
4. =R
Options :

42558942048. 1
42558942049. 2
42558942050. 3
42558942051. 4



Question Number : 75 Question Id : 42558910805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Vayu regulates physiological activities in relation to Vishudhi Chakra?

1. Prana Vayu
2. Udana Vayu
3. Samana Vayu
4. \Vyana Vayu
Options :
42558942052. 1
42558942053. 2
42558942054. 3
42558942055. 4

Question Number : 75 Question Id : 42558910805 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A Gt arg fagfs = 9 gaf-ua g fraeti =t fafea w22

1.  WO-91

2. THE-IY

3.  EHH-9Y

4. =AE-9HY
Options :

42558942052. 1
42558942053.2
42558942054. 3
42558942055. 4

Question Number : 76 Question Id : 42558910806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Regulation of which Chakra controls emotions?

1. Muladhar Chakra
2. Swadishthana Chakra
3. Manipur Chakra
4. Anahata Chakra
Options :
42558942056. 1
42558942057. 2
42558942058. 3
42558942059. 4



Question Number : 76 Question Id : 42558910806 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

79 =z & fama § gemsi =1 fHaf=a foea s e 2
1 TAINR =5
2. HEUSHE =k
3. WU =k
4. G 9H
Options :
42558942056. 1
42558942057. 2

42558942058. 3
42558942059. 4

Question Number : 77 Question Id : 42558910807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which green vegetable is not edible (Pathya) in Hatha Yoage pradipika?

Jiwanti-shaka
Sarson-shaka
Punarnava-shaka
4. Meghnad-shaka
Options :
42558942060. 1
42558942061 2
42558942062. 3
42558942063 4

W e

Question Number : 77 Question Id : 42558910807 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSATTIGIIeRT & STHR i W1 a1 9 el © 7

1. SE-d-3mEs
2.  OEI-IF

3.  YTe-uE
4. HIAR-VIRR

Options :

42558942060. 1
42558942061. 2
42558942062. 3
42558942063. 4



Question Number : 78 Question Id : 42558910808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Accumulation, vitiation and normalization of Vata respectively takes place in which season?

1. Summer, Rainy, Autumn
2. Rainy, Autumn, Spring
3. Winter, Spring, Rainy
4. Rainy, Autumn, Winter
Options :
42558942064. 1
42558942065. 2
42558942066. 3
42558942067. 4

Question Number : 78 Question Id : 42558910808 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T o1 T4, TR o FITH A9 R el | S €2

1. oy, 991, g
2. 99, IRE, 99
3. eH=, 99, 99i
4. 99, RS, ¥«

Options :

42558942064. 1
42558942065. 2
42558942066. 3
42558942067 4

Question Number : 79 Question Id : 42558910809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which dhauti regulates Pitta and Kapha?

1. Varisar-dhauti
2. Vanhisaar-dhauti
3

. Hrid-dhauti
4. Mula-shodhana
Options :

42558942068. 1
42558942069. 2
42558942070. 3
42558942071. 4



Question Number : 79 Question Id : 42558910809 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i = ifa T o wd =% =1 e i €2

1. afmEr-fa
2. afgar-+ifa
3. wg-difa

4. HE-EA

Options :

42558942068. 1
42558942069. 2
42558942070. 3
42558942071. 4

Question Number : 80 Question Id : 42558910810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Parasympathetic activation results in —

1. Increased Metabolic rate
2. Activation of energy reserve
3. Increased secretion of digestive juices
4. Increased mental alertness
Options :
42558942072 1
42558942073. 2
42558942074. 3
42558942075. 4

Question Number : 80 Question Id : 42558910810 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R (Tufaeiefer) oo o aftom €1

1. =Erg=E giEan #1 feamfiea
2. el 99a # fmaniieran

3. VR W FEEHIE

4. WAMEE G H IiE
Options :

42558942072. 1
42558942073.2
42558942074. 3
42558942075. 4



Question Number : 81 Question Id : 42558910811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Smallest functional unit of muscle fiber is

1. Ligament

2. Tendon

3. Sarcomere

4. Actin
Options :

42558942076. 1
42558942077.2
42558942078. 3
42558942079. 4

Question Number : 81 Question Id : 42558910811 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Al it ferarditer genay 3T B
1. fomdz (erferErs)
2. U= (FUE)
3. ONHIHH
4.  TfaA
Options :
42558942076. 1
42558942077. 2

42558942078. 3
42558942079. 4

Question Number : 82 Question Id : 42558910812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Voluntary control of breathing during pranayama is done by —

1. Cerebral Cortex
2. Cerebral Medulla
3. Medulla Oblongata
4, Cerebellum
Options :

42558942080. 1
42558942081. 2
42558942082. 3
42558942083 4



Question Number : 82 Question Id : 42558910812 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
YO HIEA] % 3Tid Yeared &l Ufess fddu foar S e |

1. oA Fea (Ynfash-gieedi) & gu
2. Y Hgen (A 790) % W

3. HEAl e % g

4. Yaem (vvamiass i) & g

Options :

42558942080. 1
42558942081. 2
42558942082. 3
42558942083. 4

Question Number : 83 Question Id : 42558910813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Position of ankle joint and feet during Bhujangasana -

Dorsi Flexion
Planter Flexion
Eversion

4. Inversion

W N

Options :

42558942084. 1
42558942085. 2
42558942086. 3
42558942087. 4

Question Number : 83 Question Id : 42558910813 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SiTrEH B 4 & @A G v aell i feefa o @t €2

1. Sl wiwH
2. IR TRIRH
3. UM

4. TAISA
Options :

42558942084. 1
42558942085. 2
42558942086. 3
42558942087. 4



Question Number : 84 Question Id : 42558910814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which Mudra, |da and Pingla become inactive according to Hathayoga?

1. Khechari Mudra
2. Vipreetakarni Mudra
3

. Mahaveda
4. Maha Mudra
Options :

42558942088. 1
42558942089. 2
42558942090. 3
42558942091. 4

Question Number : 84 Question Id : 42558910814 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S3ANT % STER g a1 % etemrm H ger 9 fren mor srawen ® wg S € ?

1. @9l g

2. TorodieRToft Hqa
3. TEEY

4.  HEME

Options :

42558942088. 1
42558942089. 2
42558942090. 3
42558942091. 4

Question Number : 85 Question Id : 42558910815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How much should be the length of dhauti according to Hatharatnavali?

1. Ten hands

2. Twenty hands

3. Thirty hands

4. Twelve hands
Options :
42558942092. 1
42558942093. 2
42558942094. 3
42558942095. 4



Question Number : 85 Question Id : 42558910815 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSl % AR il o fog o i1 orvad &) 2 = ?

1. TETY

2. WMWY
3. ®WgEyg
4. WNETY

Options :

42558942092. 1
42558942093. 2
42558942094. 3
42558942095. 4

Question Number : 86 Question Id : 42558910816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Danda Dhauti destroys according to Gheranda -
1. Brain Disease

2. Throat Disease

3. Heart Disease

4. Stomach Disease
Options :
42558942096. 1
42558942097. 2
42558942098 3
42558942099 4

Question Number : 86 Question Id : 42558910816 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

*AUE % FIER U Hifd § T B B
1. Tfegss I

2. FHSIAM

3. w4

4. IJAT

Options :

42558942096. 1
42558942097.2
42558942098. 3
42558942099. 4



Question Number : 87 Question Id : 42558910817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What can be done first during the practice of Gaumukhasana, according to Hathayogapradipika?

1. Right heel near left pelvis.
2. Left heel near right pelvis.
3. Right knee over the left knee.
4. Left knee over the right knee.
Options :
42558942100. 1
42558942101. 2
42558942102. 3
42558942103 4

Question Number : 87 Question Id : 42558910817 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ESAMTHEI Ueh] o STEN THETa § Helgew =1 i 7

1. 919 Y= F 99 Sfet TE
2. <fed U= % I @l e
3. 9 29 h FR I LA
4. T A F W G AT
Options :

42558942100. 1
42558942101.2
42558942102. 3
42558942103. 4

Question Number : 88 Question Id : 42558910818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What helps to siddha (accomplish) yoga as per Hathayogapradipika?

1. Courage

2. overeating

3. Exertion

4. Ficklemindedness
Options :

42558942104. 1
42558942105. 2
42558942106. 3
42558942107. 4



Question Number : 88 Question Id : 42558910818 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

eSATTIEITteRT % SER fRad 4 fag e ?

1. HrEY
2. ERR
3. wWHE
4.  HEcAd

Options :

42558942104. 1
42558942105. 2
42558942106. 3
42558942107. 4

Question Number : 89 Question Id : 42558910819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Positioning of body from toe to naval region during Bhujangasana, according to Gherand Samhita should
be -

1. Keep straight.
2. To place on the ground.
3. To lift and place over the head.
4. Tosee the heel.
Options :
42558942108. 1
42558942109. 2
42558942110. 3
42558942111. 4

Question Number : 89 Question Id : 42558910819 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HIUE o HATHR YAgHEA H IR § ookl AMH T 91T Fl 39 TR HL |

1. dEnsil

2. Wde W TG |

3. SR Far oR Tenfaa &
4. TEHTEI

Options :

42558942108. 1
42558942109. 2
42558942110. 3
42558942111. 4



Question Number : 90 Question Id : 42558910820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one is not a characteristic of a good lesson plan -

1. Generalised for all yoga practices
2. Detailed lesson plan
3. Specify materials required
4. Should take cognizance of individual difference
Options :
42558942112. 1
42558942113.2
42558942114.3
42558942115. 4

Question Number : 90 Question Id : 42558910820 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

STee5! qIG ST T 0T T8l § |

L =9 A-AS I e W WEg- A

2. fosga wzg-4reH

3. FEESE WUl i e T Gl 9184 L arell 8- s
4. el w1 f9=Tan <l wEifed o el qgg-ars

Options :

42258942112.1

42558942113.2

42558942114. 3
42558942115. 4

Question Number : 91 Question Id : 42558910821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the symptoms of Bhakti in sequence according to Narad Bhakti Sutra -

According to dumb’s taste

Only few eligible can receive this illumination
The nature of love is undescribed

Free from desire

Free from Gunas

mo N op

Choose the correct answer from the options given below :

1. C,AB,ED
2. D,CB,AE
3. ABCDE
4. ED,CB,A
Options :
42558942116. 1
42558942117. 2
42558942118.3
42558942119. 4



Question Number : 91 Question Id : 42558910821 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ARG i o TR WiF o T&91 % A 9dH |

A. T % TERETE HT i

B. fordi fordl ym & yomifed € =
C. U\ = wEy AfFe=Tg &
D. AT ed e €

E. 7O Ifed B €

= feu U fasmedi 0 | Q& T A |
1. GCA,BED

2. D,CBA,E

3. A,B,C,D,E

4. ED,CBA

Options :

42558942116. 1
42558942117. 2
42558942118.3
42558942119. 4

Question Number : 92 Question Id : 42558910822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sequence according to birth time -

A. T.Krishnamacharya

B. Swami Shivananda Saraswati
C. Maharshi Mahesh Yogi

D. Swami Ram

E. Shree Shyamacharan Lahari

Choose the correct answer from the options given below :

D,ABCE
E,A,D,CB
E,B,ACD
4. A CB,DE

tap B

Options :

42558942120. 1
42558942121.2
42558942122. 3
42558942123. 4



Question Number : 92 Question Id : 42558910822 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SR % STIER FHG |
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Options :

42558942120. 1
42558942121. 2
42558942122.3
42558942123. 4

Question Number : 93 Question Id : 42558910823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange according to Shrimadbhadwadgeeta -

Darpa
Agyan
Dambha
Krodha
Abhimaan

moNwpe

Choose the correct answer from the options given below :

C,AE.D,B
C,A D EB
B,C,ADE
4. EB,CAD

tap B

Options :

42558942124. 1
42558942125.2
42558942126. 3
42558942127. 4



Question Number : 93 Question Id : 42558910823 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A

B. @M

C.

D. @Y

E.  #Afyam

= feu o fomedi # 9 wE W FH |

1. CAED,B

2. CADEB

3. BCADE

1. EBCAD
Options :

42558942124. 1
42558942125.2
42558942126. 3
42558942127. 4

Question Number : 94 Question Id : 42558910824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange according to Prashnopanisad -

Union of Pran and Rai

Questions of Ashwalayan related to origin of Prana
Questions of Satyakama related to Omkar Prayer

Questions of Gargya Muni related to Jiwatma and Parmatma
Question of Bhargav related to people.

moNwpe

Choose the correct answer from the options given below :

ABCD,E
E,B,D,C A
A E B,D,C
4. D,CABE

tap B

Options :

42558942128. 1
42558942129.2
42558942130. 3
42558942131.4



Question Number : 94 Question Id : 42558910824 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942128. 1
42558942129. 2
42558942130. 3
42558942131.4

Question Number : 95 Question Id : 42558910825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence the first five matras of Omkar according to Nadabindoopanisad -

A. Naamdheya
Patangini
Ghoshini
Vidhunmatra
Vayuvegini

mo N

Choose the correct answer from the options given below :

1. C,D,B,E A
2. A BCD,E
3. EDABC
4. CABED
Options :
42558942132. 1
42558942133. 2
42558942134.3
42558942135. 4



Question Number : 95 Question Id : 42558910825 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942132. 1
42558942133.2
42558942134.3
42558942135. 4

Question Number : 96 Question Id : 42558910826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Arrange these in sequence according to Yogasutra —

A. Ishwar

B. Chittavriti

C. Panchaklesha

D. Chitta Parinaam
E. Dharna

Choose the correct answer from the options given below :

B,A,C,ED
A, BCED
A CB,DE
4. C,ABD,E

tap B

Options :

42558942136. 1
42558942137. 2
42558942138. 3
42558942139. 4



Question Number : 96 Question Id : 42558910826 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ANHA F IR FHaIG HL |
A TR

B. facmfd

C. YA

D. faa-4ftom

E. Xl

9 fau o foemredi W ¥ wE W FH |
1. BAGCGED

2. ABCED

3 ACBILE

4. CAB,D,E
Options :

42558942136. 1
42558942137.2
42558942138. 3
42558942139. 4

Question Number : 97 Question Id : 42558910827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange these in sequence according to Gheranda —

A. Trataka
Vaarisara
Vaatkrama
Vaman Dhauti
Dantmool Dhauti

mo N

Choose the correct answer from the options given below :

1. EB,AD,C
2. ABDEC
3. B,E D AL
4. C,B,AED
Options :
42558942140. 1
42558942141.2
42558942142. 3
42558942143. 4



Question Number : 97 Question Id : 42558910827 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942140. 1
42558942141. 2
42558942142. 3
42558942143. 4

Question Number : 98 Question Id : 42558910828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the suitable place for the practice of Hathayoga according to Hathayogapradipika Sloka —

A. Free from stone and fire

B. Awvailability of Donation (Subhiksha)
C. Religious

D. Good Province

E. Silent Place

Choose the correct answer from the options given below :

A BCDE
D,AECEBH
D,C B AE
4. D,ECB,A

ta iR

Options :

42558942144. 1
42558942145.2
42558942146. 3
42558942147. 4



Question Number : 98 Question Id : 42558910828 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942144. 1
42558942145. 2
42558942146. 3
42558942147. 4

Question Number : 99 Question Id : 42558910829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sequence of hearing through hearing organs —

A. Chochlea

Tympanic Membrane
Ossicles

Auricle

Vestibule

mo O

Choose the correct answer from the options given below :

1. E,D,AB,C
2. C,D,E,A,B
3. AJEEC,B,D
4. D,B,CEA
Options :
42558942148. 1
42558942149.2
42558942150. 3
42558942151. 4



Question Number : 99 Question Id : 42558910829 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g T YiehaT § G0 R S —

A, Fifgeran

B. ferifer AwsF
C. =ifgw=

D. 3@

E. o=Egd

= feu o foemedi # 9 W& W FH |
1. EDA,BC
2. OCD.EAB
3. AECGBD
4. D,B,C,EA
Options :

42558942148. 1
42558942149.2
42558942150. 3
42558942151. 4

Question Number : 100 Question Id : 42558910830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the sequence of psychosexual developmental stages according to Sigmund Freud?

A. Genital Stage
B. Phallic Stage
C. Latency Stage
D. Oral Stage

E. Anal Stage

Choose the correct answer from the options given below :

D,E,BCA
D,ECB,A
E,A,D,B,C
4. AEDCB

tap B

Options :

42558942152. 1
42558942153. 2
42558942154. 3
42558942155. 4



Question Number : 100 Question Id : 42558910830 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942152. 1
42558942153. 2
42558942154. 3
42558942155. 4

Question Number : 101 Question Id : 42558910831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the following in sequence according to Gheranda Sanhita Shloka —

A. Onion

B. Lemon

C. Horsegram
D. Kapitha

E. Curd

Choose the correct answer from the options given below :

1. A CB,ED
2. ECD,BA
3. C,E,D,B A
4. B,C,D,EA
Options :
42558942156. 1
42558942157. 2
42558942158. 3
42558942159. 4



Question Number : 101 Question Id : 42558910831 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-

B
E,C;D
C.E.D,
B,C, D

Options :

42558942156. 1
42558942157. 2
42558942158. 3
42558942159. 4

Question Number : 102 Question Id : 42558910832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange bones from head to feet -

A. Mandible
B. Scapula
C. Frontal

D. Femur

E. Tarsal

Choose the correct answer from the options given below :

B,E,D,AC
C,A,BDE
C,A,BED
4. A,B,ED,C

tap B

Options :

42558942160. 1
42558942161.2
42558942162. 3
42558942163. 4



Question Number : 102 Question Id : 42558910832 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942160. 1
42558942161. 2
42558942162. 3
42558942163. 4

Question Number : 103 Question Id : 42558910833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange in sequence according to lesson plan -

A. Salient Points
Verbal Introduction
Advantages
Demonstration
Question Answer

mo O

Choose the correct answer from the options given below :

1. B,D,E,A,C
2. B,D;ACE
3. B,D,CAE
4. A,B,D,CE
Options :
42558942164. 1
42558942165. 2
42558942166. 3
42558942167. 4



Question Number : 103 Question Id : 42558910833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

913 ASH1/lesson pla_na? TR G |
A THE T

B. HifEs wegfaertul

C. Y

D. ¥

E.  UH IW

= fau o foemedi # 9 W& W FH |
1. B,DEAC

2. BDACE

3. B,D,CA,E

4. ABD,CE

Options :

42558942164. 1
42558942165.2
42558942166. 3
42558942167. 4

Question Number : 104 Question Id : 42558910834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arrange the subject of Shiv Sambhita according to chapter.

Four stages of Yoga
Description of 10 Mudras
Philosophical Principles
Tattvagyan Prakaran
Self-realisation

monNnwpe

Choose the correct answer from the options given below :

C,D,ABE
C,A,BED
C,B,ADE
4. A,BCD,E

tap B

Options :

42558942168. 1
42558942169. 2
42558942170. 3
42558942171. 4



Question Number : 104 Question Id : 42558910834 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942168. 1
42558942169. 2
42558942170. 3
42558942171. 4

Question Number : 105 Question Id : 42558910835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Sequence the mudra according to shloka written in Gheranda Samhita.

A, Kaki
Ashwini
Vipreetkarni
Uddiyana
Mahaveda

mo N

Choose the correct answer from the options given below :

1. D,EC B, A
2. A BCD,E
3. D,EAB,C
4. E,A,B,CD
Options :
42558942172. 1
42558942173. 2
42558942174. 3
42558942175. 4



Question Number : 105 Question Id : 42558910835 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

42558942172. 1
42558942173. 2
42558942174. 3
42558942175. 4

Question Number : 106 Question Id : 42558910836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following do not come under creation of elements according to Samkhya—

A. Mahat

B. Sattva

C. Ahankaar
D. Mahabhoot
E. Raj

Choose the correct answer from the options given below :

1. A, B&DOnly

2. B&C Ol‘ll‘yr

3. B&EOnly

4. A&EOnly
Options :

42558942176. 1
425589421717.2
42558942178. 3
42558942179. 4



Question Number : 106 Question Id : 42558910836 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i & FER di i gite gferan § 75 2
A, HEq

B. Wd

C. 3EFR

D. WA

E

9= feu o fasred § 9 W SR T
1. FEAA,BRD

2.  FaEABIRC

3. Fad B3RE

4. Fad A ARE
Options :

42558942176. 1
425589421717.2
42558942178. 3
42558942179. 4

Question Number : 107 Question Id : 42558910837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which options do not come under the seven stages of knowledge according to Yoga Vashistha?

A Shubheccha
Tanumansa
Ashubheccha
Asattvapatti
Sansakti

mooOw

Choose the correct answer from the options given below :

1.  C,D,EOnly
2. A,B,COnly
3.  B,C,DOnly
4.  D,E,AOnly

Options :

42558942180. 1

42558942181.2

42558942182. 3

42558942183. 4



Question Number : 107 Question Id : 42558910837 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TT-Sfee & STER 99 H 9w 4t § 78 ©

A gE=E

B.  @HIEI

C. Y=

D. gy

E. Hdfw

9= feu o fasred § 9 W SR T4

1. #FAC,D,E

2. FEAA,B,C

3. &@@B,CD

4. FEAD,E A
Options :

42558942180. 1
42558942181.2
42558942182. 3
42558942183. 4

Question Number : 108 Question Id : 42558910838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What is the solution of conquering Chitta according to Yoga Vashistha?

Company of saints
Avoidance of food
Avoidance of lust (vasana)
Inhale fast

Attainment of Spirituality

monNnwe

Choose the correct answer from the options given below :

1. A,C,EOnly
2. B,C,DOnly
3. C,D,EOnly
4. D,E, AOnly

Options :

42558942184. 1

42558942185.2

42558942186. 3

42558942187. 4



Question Number : 108 Question Id : 42558910838 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Gr-anfares % srER fom % S fasm o9 % sy e 9 8 = 2
A WY HHa

B.  ISH 1 9

C.  9/EAl &1 9REnT

D. st g &g o

E. 1A faun &1 wifa

9= feu o fasedi § 9 W SR T
1. FFAA,CE

2. &FE@AB,CD

3. F@ACD,E

4. FEAD,E A

Options :

42558942184. 1
42558942185.2
42558942186. 3
42558942187. 4

Question Number : 109 Question Id : 42558910839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which options are not characteristics of soul according to Kathopanisad —

A. Itisan effect

It is a cause

It does not take birth
It does not die

It is ancient

mo o

Choose the correct answer from the options given below :

1. B,EOnly
2. C,DOnly
3. B,COnly
4. A, BOnly
Options :

42558942188. 1
42558942189.2
42558942190. 3
42558942191. 4



Question Number : 109 Question Id : 42558910839 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FIMIE &F STTER AT H AT Tl |
A FEE

B. FRWE

C. ATHAME

D. AWaE

E. TQUade

9= feu o fasred § 9 W SR T
1. #adB,E

2. FEAC,D

3. F@AB,C

4. FaAA,B

Options :

42558942188. 1
42558942189.2
42558942190. 3
42558942191. 4

Question Number : 110 Question Id : 42558910840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

How Bhrama is mentioned in Mundakopanisad according to Paravidya?

Draeshya
Adraeshya
Asarvagat
Agraheya
Nitya

mo N e

Choose the correct answer from the options given below :

1. A,C, E Only

2. C,D,E Only

3. B,D,E Only

4. A,D,E Only
Options :

42558942192. 1
42558942193.2
42558942194. 3
42558942195. 4



Question Number : 110 Question Id : 42558910840 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, =¥

B. 3E¥F

C. 9aTd

D. =@

E.  f1=

=1 feu o fosredi W 9 W& W T ¢
1. FFAA,CE

2. FEAC,D,E

3. &F@@B,D,E

4. FEAA,D,E

Options :

42558942192. 1
42558942193. 2
42558942194. 3
42558942195. 4

Question Number : 111 Question Id : 42558910841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which options are not a limb of yoga, according to Yogachudamani Upanisad?

A. Yama

Asana
Pranavirodha
Pratyahara
Asamadhi

mo o

Choose the correct answer from the options given below :

1. A,B,COnly

2. C,D,EOnly

3. B,D,AOnly

4. A,C, EOnly
Options :

42558942196. 1
42558942197.2
42558942198. 3
42558942199. 4



Question Number : 111 Question Id : 42558910841 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arremor Sufae F AR FrmE T T
A T

B. 3

C. el

D. UdERER

E. &gy

9= feu o fased § 9 W SR T
1. FEAA,B,C

2. FEAC,D,E

3. &@@B,D, A

4. FEAA,CE
Options :

42558942196. 1
42558942197.2
42558942198. 3
42558942199. 4

Question Number : 112 Question Id : 42558910842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What can be attained through the means of Grahitrivishayaka Samadhi?

A. Praatibha

B. Sthoolawastha
C. Shraavan

D. Mahima

E. Adarsh

Choose the correct answer from the options given below :

1. B,C,DOnly
2. A,C,DOnly
3. A C EOnly
4. A,B,DOnly
Options :
42558942200. 1
42558942201. 2
42558942202. 3
42558942203. 4



Question Number : 112 Question Id : 42558910842 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEIgfaTae TaIfe % e § 91 e S § ?
A, Tty

B. TaEe

C. gm=m

D. Hfew

E. ey

9= feu o fasred § 9 W SR T4
1. #EdAB,C D

2. FEAACD

3. FEAA CE

4. FEAA,B,D
Options :

42558942200. 1
42558942201.2
42558942202. 3
42558942203. 4

Question Number : 113 Question Id : 42558910843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Describe the Karma according to Hatharatnavali —

A. Chakri

B. Nauli

C. Gajkamni

D. Mastakbhranti

E. Shankha Prakshalan

Choose the correct answer from the options given below :

1. A,B,C,DOnly
2. E,A,B,COnly
3. B,C,D,EOnly
4. B,C,EOnly

Options :

42558942204. 1

42558942205. 2

42558942206. 3

42558942207. 4



Question Number : 113 Question Id : 42558910843 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ESTEC o STTAR HHl I & |

A T

B. Hifa

C. TSRO

D. HEHRH

E. 9@ 9&e

9= feu o fasedi § 9 W SR T

1. ®EAA,B,CD
2. &FEAE A, B,C
3. &FdaB,CD,E
4. FHFAB,CE
Options :
42558942204. 1
42558942205. 2

42558942206. 3
42558942207. 4

Question Number : 114 Question Id : 42558910844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which options are the part of Shatkarma according to Gheranda?

A. Vaatsaar

B. Chakri

C. Dantmool Dahouti
D. Sheetkrama

E. Gajkarni

Choose the correct answer from the options given below :

1. A,B,COnly
2. A,C,DOnly
3. A C,E Only
4. A,C,B Only
Options :

42558942208. 1
42558942209. 2
42558942210. 3
42558942211. 4



Question Number : 114 Question Id : 42558910844 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U o STTEN GZHH H 9T © |

A, 9FER
B. ®f%
C. gaqaHifd
D. Yiawd
E. TSRO
9= feu o fased § 9 W SR T
1. FEAA,B,C
2. FEAACD
3. F@AA,CE
4. FEAACB
Options :

42558942208. 1
42558942209. 2
42558942210. 3
42558942211. 4

Question Number : 115 Question Id : 42558910845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are not Kumbaka according to Hathayogapradipika ?

A. Sahit

B. Suryabheda
C. Kewali

D. Seetkaari

E. Plawani

Choose the correct answer from the options given below :

1. A,B Only
2. B,D Only
3. A C Only
4. E,A Only
Options :
42558942212. 1
42558942213.2
42558942214. 3
42558942215. 4



Question Number : 115 Question Id : 42558910845 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSATTHRITRT o STHN FHFF 6 ¢ |

A, Hfed

B. WdUT

C. Fadl

D. HErl

E. Al

9= feu o fasedi § 9 W SR T

1. FEd A, B

2. FHEAB,D

3. FEAAC

4. FEAE, A
Options :

42558942212. 1
42558942213.2
42558942214. 3
42558942215. 4

Question Number : 116 Question Id : 42558910846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which are not mentioned under the 12 traditions of Gorakshnath?

A. Dharmanathi
B. Krishnanathi
C. Vairag Panthi
D. Yamunanathi
E. Dhaj-Panthi

Choose the correct answer from the options given below :

1. A,C Only
2. B,C Only
3. B,D Only
4. D,E Only
Options :

42558942216. 1
42558942217. 2
42558942218. 3
42558942219. 4



Question Number : 116 Question Id : 42558910846 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g1 % afe 9=¢i § 291 i &1
A, uHeR

B.  FHoured

C. S geft

D.  IHAER

E.  gs-vefl

9= feu o fased § 9 W SR T
1. FEAAC

2. FFAB,C

3. 9@ B,D

4. FaAD,E
Options :

42558942216. 1
42558942217.2
42558942218. 3
42558942219. 4

Question Number : 117 Question Id : 42558910847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The supreme divided himself in the following parts according to Brihadranykopnisad -

A. Fire
Water
Air
Sun
Colour

mo N

Choose the correct answer from the options given below :

1. A,B,E Only

2. A CD Only

3. A D E Only

4. A,C,E Only
Options :

42558942220. 1
42558942221. 2
42558942222.3
42558942223. 4



Question Number : 117 Question Id : 42558910847 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, 3

B. W

| S

D. ¥

E. @

9= feu o fasedi § 9 W SR T
1. #FAA,B,E

2. FHEAA,CD

3. @@ A,DE

4. FEAA,CE

Options :

42558942220. 1
42558942221. 2
425589422223
42558942223. 4

Question Number : 118 Question Id : 42558910848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

are the appropriate for Dhyana according to Swetaswataropanisad.

Free from stones, fire and sand
Soothing for eyes

In water

Sit on tiger’s leather

Purified from all

mo N e

Choose the correct answer from the options given below :

1. B,C, A Only
2. C,D,E Only
3. A C,D Only
4. A,B,E Only
Options :
42558942224. 1
42558942225.2
42558942226. 3
42558942227. 4



Question Number : 118 Question Id : 42558910848 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FARERTATE F TR M ¥ o suger €
A, &, a1 @i a9 Wea

B. I I 3UH 4 9

C. waH

D. =09 94 % FW 9B

E. WfivarRags e

9= feu o fasedi § 9 W SR T
1. #EdAB,C A

2. FEAC,D,E

3. @A A,CD

4. FEAA,BE

Options :

42558942224. 1
42558942225.2
42558942226. 3
42558942227. 4

Question Number : 119 Question Id : 42558910849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which Asana are not mentioned in Hathyogapradipika?

A. Siddhasana
Bakasana
Matasyasana
Virabhadrasana
Dhanurasana

mo o

Choose the correct answer from the options given below :

1. A,B,D Only
2. B,C,D Only
3. A CE Only
4. B,C,E Only
Options :
42558942228. 1
42558942229.2
42558942230. 3
42558942231. 4



Question Number : 119 Question Id : 42558910849 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= o @ $HE 31 esdrfeias § 72 aftig &2
A,  fogmH

B. wREA

C. o

D. FRYERA

E.  o0EA

9= feu o fased § 9 W SR T
1. HFAAB,D

2. FHEAB,CD

3. FEAA CE

4. FEAB,CE
Options :

42558942228. 1
42558942229.2
42558942230. 3
42558942231. 4

Question Number : 120 Question Id : 42558910850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Stages of personality development according to Jung.

A. Childhood

B. Early Childhood
C. Young Adulthood
D. Middle Age

E. Maturity

Choose the correct answer from the options given below :

1. A C,D Only
2. B,C,D Only
3. B,C, E Only
4. C,D,E Only
Options :
42558942232 1
42558942233.2
42558942234.3
42558942235. 4



Question Number : 120 Question Id : 42558910850 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g7 % SR Safe fasrg it s
A FEIEEe

B. W acames

C. mfeeyeF Fameen

D. TeAEE

E.  Yiuged

9= feu o fasred § 9 W SR T
1. FHEAACD

2. &FE@AB,CD

3. &@@B,CE

4. FEAC,D,E
Options :

42558942232. 1
42558942233.2
42558942234. 3
42558942235. 4

Question Number : 121 Question Id : 42558910851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types of loint?

A. Gliding

B. Inversion
C. Condylar
D. Protraction
E. Saddle

Choose the correct answer from the options given below :

1. A,D Only
2. B,C,D Only
3. B,E,D Only
4. A,C,E Only
Options :
42558942236. 1
42558942237.2
42558942238. 3
42558942239. 4



Question Number : 121 Question Id : 42558910851 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fadadfyF yFrR FA T &2
A, TERRET

B. IHAGH

C. &rEer

D. URFH

E. Hed

9= feu o fasred § 9 W SR T
1. FHFFAAD

2. &FE@AB,CD

3. @@ B,E,D

4. FEAA,CE
Options :

42558942236. 1
42558942237.2
42558942238. 3
42558942239. 4

Question Number : 122 Question Id : 42558910852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following have an ill effect on mental and emotional health?

A. Pramad

B. Karuna

C. Bhranti Darshan
D. Avirati

E. Mudita

Choose the correct answer from the options given below :

1. A,E,D Only
2. A,C,E Only
3. A C,D Only
4. B,C,D Only
Options :
42558942240. 1
42558942241.2
42558942242. 3
42558942243. 4



Question Number : 122 Question Id : 42558910852 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AHT T& WEHAeTs e &) 4 § 9 3 THeTs €9 9 guifed e & ?

A O
B. &
C. yrf-aes
D. 3ffexfa
E.  Hfem
9= feu o fased § 9 W SR T
1. #HFAAED
2. FEAACE
3. FE@AACD
4. FEAB,C,D
Options :

42558942240. 1
42558942241.2
42558942242. 3
42558942243. 4

Question Number : 123 Question Id : 42558910853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Types of Yogic Breathing are —

A. Deep Breathing

Abdominal Breathing
Thoracic Breathing

General Breathing
Thoraco-abdominal Breathing

mo o

Choose the correct answer from the options given below :

1. A,D Only
2. A CD Only
3. B,C,E Only
4. D,C E Only
Options :
42558942244, 1
42558942245.2

42558942246. 3
42558942247. 4



Question Number : 123 Question Id : 42558910853 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT Y9 F YFR T |
A, < vEEA

B. S vagd

C. 9&fg vadd

D. O a9

E. 9&ia-350g vaad
9= feu o fasedi § 9 W SR T
1. FHFFAAD

2. FHEAA,CD

3. &@@B,CE

4. FEAD,CE
Options :

42558942244. 1
42558942245.2
42558942246. 3
42558942247. 4

Question Number : 124 Question Id : 42558910854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
The advantages of a written lesson plan are —

A. It helps the teacher to organize his thinking.
It should be prepared shortly before use.

It increases the teacher’s confidence.

It serves as an aid for future plans.

It should be specific and detailed.

mop®m

Choose the correct answer from the options given below :

1. B,C,E Only
2. A,C,D Only
3. EB,A Only
4. C,B,E Only
Options :
42558942248. 1
42558942249. 2
42558942250. 3
42558942251. 4



Question Number : 124 Question Id : 42558910854 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafea T2 F49 & o1y 39 TFR B

A, THY 3TAE F1 S Toumil 1 afed w1 T gerEa e €
B. 3H ITAN % &Y THAYE A AT =1feT |

C. THYH A9 1 STCHEYaTH el ¢ |

D. wfgsr 1 dsmnsti & foe 98 v el 2 2
E. ¥ T 3R fomga 21

=1 feu o fosredi W 9 W& W T ¢

1. #FAB,CE

2. FEAACD

3. SadE B A

4. FEAC,B,E

Options :

42558942248. 1
42558942249.2
42558942250. 3
42558942251. 4

Question Number : 125 Question Id : 42558910855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which statement is not correct for Tadagi Mudra?

To sit in Paschimottanasana.

By doing this hair never becomes grey.
Wrinkles do not come over the body.
This mudra overcomes old age.

This mudra overcomes death.

mo N e

Choose the correct answer from the options given below :

1. A,D Only
2. D,E Only
3. B,C Only
4. A E Only
Options :

42558942252. 1
42558942253.2
42558942254. 3
42558942255. 4



Question Number : 125 Question Id : 42558910855 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TSR a1 % el W HE] 9 I 11 82
A, givEHEEEa 5 9D |

B. 3UF 1AM § T eI R |
C. IR W gt 781 e |

D. 8 Hgl 5 1 foAme ol €1
E. 4% Hgl ucg ol famm &t 2
1 fau o fomredi o | WE I T4
1. %ad A, D

2. F9AD,E

3. F9@B,C

4. FFAAE

Options :

42558942252. 1
42558942253. 2
42558942254. 3
42558942255. 4

Question Number : 126 Question Id : 42558910856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Fundamentals of Yoga.

List | List 1l
A. Purusharth L. Hathayoga
B. Gorakshasanhita 1. Veda
C. Trayee 1. Aranyakanda
D. Ramayana V. Four

Choose the correct answer from the options given below :

1. A-ll, B-lll, C-IV, D-l
2. A-IV, B-l, G-I, D-11I
3. A-l, B-ll, C-llI, D=1V
4, A-IV, B-lll, C-I, D-lI

Options :

42558942256. 1

42558942257.2

42558942258. 3

42558942259. 4



Question Number : 126 Question Id : 42558910856 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T % SMUR-Yd awl o 9o G - 1 S gE - 10 frem &

=1 Tt - 11
A gENY L &M
B.  Tirer-wfem L 38
c. T I, 3SWUTFHIE
D. WA V. =R
9 fou o foredi # @ W@ T 9

8 A-11, B-1II, C-1IV, D-1
2, A-1V, B-1, C-11, D-IIL
3. A-1, B-11, C-II, D-IV
4. A-1V, B-111, C-1, D-11

Options :

42558942256. 1

42558942257. 2

42558942258. 3

42558942259. 4

Question Number : 127 Question Id : 42558910857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Sidhasidhant-Paddhati.

List | List I
A. Sadacharpalana L. Shreeshail
B. Skin 1. Ksharsamudra
C. Urine 1. Brahmana
D. Forehead V. Kraunchdweep

Choose the correct answer from the options given below :

1. A-lll, B-IV, C-I, D-lI
2. A-lll, B-IV, C-1l, D-I
3. A-l, B-IV, C-lI, D-llI
4. A-IV, B-lll, C-I, D-lI

Options :

42558942260. 1
42558942261. 2
42558942262. 3
42558942263. 4



Question Number : 127 Question Id : 42558910857 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fosfagra-Tsfa & oTHuR geit - 1 sigsh - 11 = fremy |

=1 gt - 11
A.  HEMERYEH I g
B. = I &N
C. 111 I
D. @R IV. shie-gid
9 feu o foeredi # 9 wd 3

8 A-1II, B-IV, C-1, D-1L
2, A-II, B-IV, C-I1, D-1
3. A-1, B-1V, C-11, D-IIL
4. A-1V, B-111, C-1, D-11

Options :

42558942260. 1

42558942261. 2

42558942262. 3

42558942263 4

Question Number : 128 Question Id : 42558910858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to Mandukyopnisad.

List | List 1
A. Vashvanara l. Third
B. Praagya 1. Akaar
C. Antahapragya 1. Saptanga
D. Jagratisthan V. Tejas

Choose the correct answer from the options given below :

1. A-l, B-Il, C-lll, D-IV

2. A-ll, B-l, C-IV, D-1lI

3. A-lll, B-l, C-IV, D-I

4, A-lll, B-Il, C-l, D-IV
Options :

42558942264. 1
42558942265. 2
42558942266. 3
42558942267. 4



Question Number : 128 Question Id : 42558910858 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AUGHMIE % FTER ol - [ TR - 1 31 e |

Tt -1 Tt - 10
A, S¥ET I gdE
B. 9 I 3R
C. =ud . 9@
D. ST V. s
9 feu o foeredi # 9 W@ 3w

8 A-1, B-11, C-II, D-IV
2, A-11, B-1, C-IV, D-IIL
3. A-1II, B-I, C-1V, D-1L
4. A-III, B-MI, C-L, D-IV

Options :

42558942264. 1

42558942265. 2

42558942266. 3

42558942267. 4

Question Number : 129 Question Id : 42558910859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to Shrimadbhagwadgeeta.

List | List Il
A. Purusha l. Rajas
B. Katu 1. Satvik
C. Snigdha 1. Chetan
D. Tapa V. Swadhyaya

Choose the correct answer from the options given below :

1. A-ll, B-1, C-IV, D-llI

2. A-lll, B-ll, C-l, D-IV

3. A-l, B-lll, C-IV, D-II

4, A-lll, B-1, C-Il, D-IV
Options :

42558942268. 1
42558942269. 2
42558942270. 3
42558942271. 4



Question Number : 129 Question Id : 42558910859 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT o SR el - 1 SR e - I o1 fiemy |
sl et - 11
ISE

A P L.
B. w2 . @ifes
c. fomy L. =@\

D. @ V. eI
9 feu o foeredi # 9 wE 3w A

8 A-11, B-1, C-IV, D-IIL
2, A-1II, B-II, C-1, D-IV
3. A-1, B-1IL C-1V, D-1L
4. A-III, B-L, C-11, D-IV

Options :

42558942268. 1

42558942269. 2

42558942270. 3

42558942271. 4

Question Number : 130 Question Id : 42558910860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Nadabindoopnisad.

List | List Il
A Akaar . Uttar Paksha
B. Ukaar 1. Dakshin Paksha
C. Makaar 1. Puccha
D. Ardhamatra V. Mastaka

Choose the correct answer from the options given below :

1. A-ll, B-l, C-lll, D-1V
2. A-l, B-ll, C-llI, D-1V
3. A-IV, B-lll, C-ll, D-1
4. A-IV, B-ll, C-lI, D-|

Options :

42558942272. 1

42558942273. 2

42558942274. 3

42558942275. 4



Question Number : 130 Question Id : 42558910860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Arefagufue & SFTER G - [ 31 G - 11 1 ey |
Tt - 1 T - 11
FHN

A. I SR9Y
B. SER IL e g&1
C. WFR M. I

D. 21w IV. W%
= feu T foepedl § 9 W& S A ¢

1. AL B-I, C-III, D-IV
2. A-lL B, CII D-IV
3. A-1IV, B-lII, C-II, D-1
4. A-IV,B-II, C-II, D-I

Options :

42558942272. 1
42558942273. 2
42558942274. 3
42558942275. 4

Question Number : 131 Question Id : 42558910861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Yogadarshan.

List | List Il
A, Vikshepsahbhuvah L. Punyatma
B. Chittaprasadanam 1. Bhoga
C. Pramana . Daurmanasya
D. Karmashaya V. Shabda (Agama)

Choose the correct answer from the options given below :

1. A-ll, B-l, C-IV, D-lll
2. A-lll, B-l, C-1V, D-lI
3. A-l, B-lll, C-II, D=1V
4. A-IV, B-ll, C-lI, D-|

Options :

42558942276. 1

425589422717.2

42558942278. 3

42558942279. 4



Question Number : 131 Question Id : 42558910861 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A, fasqEeyE I quFes

B. faaywE Ty IL o

C. wHm . <

D. HHYH IV. 9 (37H)
= few e foepedl § 9 W& S A

1. A B-I, C-IV, D-III
2. A-II, B-L, G-IV, D-II
3. A-lL B C-II, D-IV
4. A-IV, B, C-II, D-1

Options :

42558942276. 1
42558942277. 2
42558942278. 3
42558942279. 4

Question Number : 132 Question Id : 42558910862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to Siddhasiddhantpaddhati.

List | List Il
A Matsarya L. Prakriti
B. Udyog I. Vaak
C. Asha 1. Kriya
D. Para V. Maya

Choose the correct answer from the options given below :

1. A-IV, B-lll, C-l, D-lI

2. A-lll, B-ll, C-l, D-IV

3. A-lll, B-IV, C-ll, D-1

4, A-l, B-ll, C-IV, D-llI
Options :

42558942280. 1
42558942281. 2
42558942282. 3
42558942283. 4



Question Number : 132 Question Id : 42558910862 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fosfagra-Tsfa & oTHuR geit - 1 sigsh - 11 = fremy |
-1 g -1
ey

A. I.  eld
B. @M I 9
C. @ Im. e
D. W V. [
= few T foepedl § 9 T S A ¢

1. A1V, B-II C, D-I
2. A-lI, B-IL, C-[, D-IV
3. A-lI, B-IV, C-II, D-1
4. A-L Bl CI1V, D-III

Options :

42558942280. 1
42558942281. 2
42558942282. 3
42558942283. 4

Question Number : 133 Question Id : 42558910863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Hathyoga.

List | List Il
A. Hridyakash l. Mahashunya
B. Visuddhiakash I Atishunya
C. Brumadhyakash . Shunya
D. Kanthasthan V. Madhyachakra

Choose the correct answer from the options given below :

1. A-lll, B-ll, C-l, D-IV
2. A-l, B-lll, C-lI, D-IV
3. A-ll, B-lll, C-1V, D-l
4. A-IV, B-lll, C-ll, D-|

Options :

42558942284. 1

42558942285.2

42558942286. 3

42558942287. 4



Question Number : 133 Question Id : 42558910863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

-1 -1
A, ESTERME L Her[A
B —STRTY! I
C. YA . 3=
D. HUSEMA IV. W6
=1 fau e foskredi W 9 W& 39 A ¢

1. A, B-II, C-I, D-IV
2. A-lL B G-I D-I

3. Al B-III, C-IV, D-1
4. ALV, B CI, D-I

Options :

42558942284 1
42558942285. 2
42558942286. 3
42558942287. 4

Question Number : 134 Question Id : 42558910864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to vegetables and phytochemicals.

List | List Il
A. Orange Colored Vegetables l. Lycopene
B. Red Colored Vegetables 1. Betalines
C. Deep Red Colored Vegetables 1. Beta-carotine
D. Blue & Purple Colored Vegetables V. Anthocynins

Choose the correct answer from the options given below :

1. A-l, B-Il, C-lll, D-IV

2. A-ll, B-IV, C-lll, D-I

3. A-lll, B-l, C-ll, D-IV

4, A-1V, B-ll, C-llI, D-l
Options :

42558942288. 1
42558942289. 2
42558942290. 3
42558942291. 4



Question Number : 134 Question Id : 42558910864 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gfesrat <1 Ire9 WrEA F a1y foem 1)

Tt - 1 T - 11

wfesa ey THEA
A, AR O 5 i I, ETEehdA
B. e U1 & Hissgi L SRty
C. e & 17 &1 wfss L. e-$HieH
D.  Arelr an s 3 w5 afse V. ToEEfE
9 feu o fomred § | W I T

1. A-l B C-II, D-IV
2. AL B-IV, C-III, D-1
3. A-II, B-I, C-II, D-IV
4.  A-IV, B-lI, C-III, D-1

Options :

42558942288. 1
42558942289. 2
42558942290. 3
42558942291. 4

Question Number : 135 Question Id : 42558910865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to the Yogic diet.

List | List Il
A. Snigdha l. Apathya
B. Til 1. Satvik
C. Sauth 1. Rajsik
D. Amal Ras V. Pathya

Choose the correct answer from the options given below :

1. A-ll, B-l, C-IV, D-lll

2. A-lll, B-1V, C-I, D-lI

3. A-lV, B-l, C-lll, D-lI

4. A-lll, B-1l, C-1, D-IV
Options :

42558942292 1
42558942293.2
42558942294. 3
42558942295. 4



Question Number : 135 Question Id : 42558910865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR TR o STTER et - 16 Tail - [ E e i |
Tt -1 T - 11

A, Ty . 9
B. fa= IL. Hifees
C. 4 1. eIfas
D. =™ IvV. U=
= feu o fasredi W 9 W& IW A ¢

1. A B-I, C-IV, D-III
2. A, B-IV, C-1, D-II
3. A-IV, B[, C-11I, D-II
4. A-I, B-II, C-I, DIV

Options :

42558942292. 1
42558942293. 2
42558942294. 3
42558942295. 4

Question Number : 136 Question Id : 42558910866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il as per endocrine glands and respective hormones.

List | List Il
A, Adrenal Medulla l. Cortisol
B. Pituitary Gland Il. Estrogen
C. Adrenal Cortex . Epinephrine
D. Ovaries V. Oxytocin

Choose the correct answer from the options given below :

1. A-ll, B-IV, C-llI, D-|

2. A-ll, B-IV, C-l, D-1lI

3. A-lll, B-l, C-Il, D-IV

4, A-lll, B-IV, C-l, D-lI
Options :

42558942296. 1
42558942297. 2
42558942298. 3
42558942299. 4



Question Number : 136 Question Id : 42558910866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
STt — greil Tferl 1 graf-ea g % |y e &
Tt -1 et -1
I

A= gTret Tiver
A Ufgd (sfugeR) Hga [ HEEE
B. Uigw ufy I TE2eH
C. ufgae #reey (Ifyges wiaey) I THHwE
D. femmm V. SEsEEH
=1 feu 7o faswredi § 9 W& W T ¢

1.  A-IL B-1V, C-lII, D-I
2. AL B-IV, C-1, D-III
3. A, B-I, C-II, D-IV
4. A-I, B-IV, C-1, D-II

Options :

42558942296. 1
42558942297.2
42558942298. 3
42558942299. 4

Question Number : 137 Question Id : 42558910867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to question type and its example.

List | List II
A. Introductory Questions l. What are the differences between Asana and
Pranayama?
B. Thought provoking Questions Il. What are the Principles of Pranayama?
C. Questions of Comprehension 1. What is the relationship of muscular system
and doing Asana?
D. Comparison Question V. Why do you want health?

Choose the correct answer from the options given below :

1. A-IV, B-lll, C-lI, D-|

2. A-lV, B-lll, C-l, D-1I

3. A-lV, B-l, C-lll, D-lI

4. A-lll, B-1, C-ll, D-IV
Options :

42558942300. 1
42558942301.2
42558942302. 3
42558942303. 4



Question Number : 137 Question Id : 42558910867 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T99 % TR TS 3 3aletyl 3 STTER et - 13§t - 114 fiyem )
T -1 Tl -1

A, FEIEA 9 I e iR gomEm § faea = e ?

B. fo=m & W WSt T 9l W 1. 9romEm & fagia @1 & ?

C. @Y FA arel ueA . EATY asen S e 61 F491 9ra ¢ 7
D. qeHE 99 V. TEea i e ?

1 feu o foeredi § 9 w& ST A ¢

1. A1V, B-III, C-II, D-1
2. A-IV, Bl C, D-II
3. A-IV, B[, C-11I, D-II
4. A-I, B-L CI, DIV

Options :

42558942300. 1
42558942301. 2
42558942302. 3
42558942303. 4

Question Number : 138 Question Id : 42558910868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to Leshya Dhyan.

List | List Il
A. Center of enlightenment L. Green colour
B. Center of bliss 1. Blue colour
C. Center of purification 1. White colour
D. Eyebrow center V. Pink colour

Choose the correct answer from the options given below :

1. A-l, B-lll, C-1V, D-lI

2. A-lll, B-lI, C-1, D-IV

3. A-lll, B-l, C-ll, D-IV

4, A-ll, B-I, C-IV, D-llI
Options :

42558942304. 1
42558942305. 2
42558942306. 3
42558942307. 4



Question Number : 138 Question Id : 42558910868 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= -1
A, T R L &

B. < %% M. e &
C. foufs *= ML | %g &
D. TWHA%=S IV. 1% 3
9= feu o fosredi § 9 W& SW A ¢

L. A-1, B-I1L, C-1IV, D-II
2. A-11I, B-II, C-1, D-IV
3 A-11I, B-I, C-11, D-IV
4. A-11, B-1, C-1V, D-IIL

Options :

42558942304. 1

42558942305. 2

42558942306. 3

42558942307. 4

Question Number : 139 Question Id : 42558910869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and |l according to Gherandsanhita.

List | List Il
A. Shodhan l. Pratyahaar
B. Sthairya 1. Shatkarma
C. Laghav 1. Mudra
D. Dhairya V. Pranayama

Choose the correct answer from the options given below :

1. A-l, B-lll, C-ll, D-IV

2. A-ll, B-lll, C-1V, D-I

3. A-ll, B-Iv, C-lll, D-1

4, A-l, B-lll, C-IV, D-lI
Options :

42558942308. 1
42558942309. 2
42558942310.3
42558942311. 4



Question Number : 139 Question Id : 42558910869 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SRUSHEdl o TN ot - 1 261 Teit - I firer =i |
it - 1 T - 11

A, 9IEA L 9eER

B. = . Y%A

C. @ L. ¥&

D. IV. 9™

= feu e fomredi # | W& I T ¢

1. A-L B, C-1II, D-IV
2. AL, B-III, C-IV, D-1
3. Al B-IV, C-III, D-1
4. A-L BIIL G-IV, D-II

Options :

42558942308. 1
42558942309. 2
42558942310. 3
42558942311. 4

Question Number : 140 Question Id : 42558910870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | and Il according to anatomy and physiology of the human eye.

List | List Il
A. Rhodopsin L. 3
B. Oculomotor Muscles I. Opsin
C. Image . 6
D. Cones V. Retina

Choose the correct answer from the options given below :

1. A-l, B-Il, C-lll, D-IV

2. A-ll, B-1ll, C-IV, D-I

3. A-lll, B-l, C-IV, D-I

4, A-1V, B-lll, C-l, D-lI
Options :

42558942312. 1
42558942313. 2
42558942314.3
42558942315. 4



Question Number : 140 Question Id : 42558910870 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T Ue foFan 3 STER A Sif@ & geit - 13 gt - 11 9 faem it )
-1 gt -1
3

A, UEMfEA L

B.  Aegelve ufmEt 1L fafEa
C. wfafes . 6

D. hiH v. fem
= few o foepedl § 9 W& S A

1. A-L B, C-II, D-IV
2. AL, B-III, C-IV, D-1
3. A-lI, B-I, C-IV, D-II
4. A-IV, Bl CI, D-II

Options :

42558942312. 1

42558942313. 2

42558942314. 3

42558942315. 4

Sub-Section Number : 2
Sub-Section Id : 425589429
Question Shuffling Allowed : No



Question Id : 42558910871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)

Read the following passage and answer the questions :

Our respiratory system has the special feature that it is both voluntary and involuntary, therefore, we can
move from the voluntary (conscious control of body physiology) to the involuntary system (lesser control
of body physiology). The higher centers of brain are the instruments through which prana and mind work.
As far as the physical body is concerned, the area of the brain centers in which highest creativity and
intelligence are seen governs the lower brain, as well as total body physiology. Normally the higher centers
work through mid-brain but have the control even to change the functions of the lower brain.

The hypothalamus which is situated above the midbrain is the master of lower brain, governing and
controlling all autonomic functions of the body. It works through Autonomic Nervous System and
Endocrine System to change the physiology of entire body.

The connection between voluntary nervous system and hypothalamus is essentially through the higher
centers of brain and is very feeble in normal human beings. The respiratory system is innately connected
by the nerves of this voluntary nervous system. Hence, we can change voluntarily the breathing rates,
pattern, rhythm, etc. by directing our will towards the same essentially bringing the voluntary nervous
system to override the hypothalamic autonomic control.

Sub questions

Question Number : 141 Question Id : 42558910872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Breathingisa—

Voluntary process

Involuntary process

Voluntary and involuntary process

4. Neither voluntary nor involuntary process

i o

Options :

42558942316. 1
42558942317. 2
42558942318. 3
42558942319. 4

Question Number : 142 Question Id : 42558910873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Brain center that has highest creativity is controled by—

Hypothalamus
Medulla

Medulla Oblongata
4. Cerebellum

i o

Options :

42558942320. 1
42558942321.2
42558942322. 3
42558942323. 4

Question Number : 143 Question Id : 42558910874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Example of voluntary regulation of breath

1. Increased breath rate while running.
2. Gasping during Asthmatic attack.
3. Holding of breath under water.
4. Passive exhalation during Kapalbhati.
Options :
42558942324, 1
42558942325.2
42558942326.3
42558942327. 4

Question Number : 144 Question Id : 42558910875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hypothalamus regulates -

1. Endocrine System & Autonomic Nervous System
2. Endocrine System & Peripheral Nervous System
3. Autonomic Nervous System and Peripheral Nervous System
4. Sensory and motor nerves
Options :
42558942328 1
42558942329. 2
42558942330. 3
42558942331 4

Question Number : 145 Question Id : 42558910876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Pranayama results in —

1. Regulation of higher brain centers by lower brain.

2. Overcome autonomic control of breathing.
3. Regulation of oxygen.
4. Regulation of haemoglobin.

Options :

42558942332. 1

42558942333. 2

42558942334. 3

42558942335. 4



Question Id : 42558910871 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
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Sub questions

Question Number : 141 Question Id : 42558910872 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

YaTg-YYeTy YiFan T |
1. Ufes=
2. af=®
3. Ufess vd stifese
4. Aufesw F git=F
Options :
42558942316. 1
42558942317.2

42558942318. 3
42558942319. 4

Question Number : 142 Question Id : 42558910873 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

HiEreh 1 &5 511 o degan framrs 2§, o frad fafm 22

1. EENHE
2. g
3.  HgAl SAEERTR]
4.  HEEH
Options :

42558942320. 1
42558942321.2
42558942322. 3
42558942323. 4

Question Number : 143 Question Id : 42558910874 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ATT-Y9a & Ufess fame &1 38t

1. <ed & 9HY YE Yvard & T & 68 |
2. 3TEYH] % SN % HHA S veEd

3. A F i 9| JFA
FarAHid # Hes gvard

e

Options :

42558942324. 1
42558942325.2
42558942326. 3
42558942327. 4

Question Number : 144 Question Id : 42558910875 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ROy e #ar ®

1. 3T o6 9eE ud = af=e
2. a4l HeE ud ufEE afEe =

3. T dfae] 99 Ug g afsmwm
Aarel aen fEaramwEr afae

e

Options :

42558942328. 1
42558942329. 2
42558942330. 3
42558942331. 4

Question Number : 145 Question Id : 42558910876 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IO =R 9o ¥
1. =R ufEsna F) &1 fFama afassg w5 g
2. YA % E=Ed 0T O
3. AT R A A
4.  EMTEfed 1 T s
Options :
42558942332, 1
42558942333, 2
42558942334. 3
42558942335. 4

Sub-Section Number : 3
Sub-Section Id : 425589430
Question Shuffling Allowed : No



Question Id : 42558910877 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)

Read the following passage and answer the questions :

The syllable ‘OM’ is first uttered by Udgata priest in the sacrifice. Here it explained the meditation on the
Udgitha. The essence of all creatures and objects in the earth. The essence of earth is water. The essence
of water is plants. The essence of plants is Mann. The essence of Mann is speech. The essence of speech
is Sama (chant). The essence of Sama is Udgith. This is supreme essence among all essences. This is the
symbol of supreme self.

Speech itself is the Rik, the prana is the Sama, and the syllable ‘OM’ is Udgitha. That pair consisting of
speech in the form of Rik and prana is the form of Sama is well known. Just as the union of male and
female fulfills each other’s desires, similarly from the conjunction of this pair the Omkara is produced.

It is through the syllable ‘OM’ that the threefold Vedic knowledge becomes active in ritual. By saying ‘OM’
the ‘Hotr’ priest begins his recitation and the Udgata priest begins the Sama chant. All sacrificial rites are
performed for the worship of this very syllable ‘OM’.

Sub questions

Question Number : 146 Question Id : 42558910878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Omkar helps to attain -

1. Brahm
2. Ishwar
3. Desires
4. Purusha
Options :

42558942336. 1
42558942337. 2
42558942338. 3
42558942339. 4

Question Number : 147 Question Id : 42558910879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Recitation of Veda mantra has been initiated with —

1. Shre OM

2. OM

3. HariOM

4. OM Gum
Options :

42558942340. 1
42558942341.2
42558942342. 3
42558942343. 4

Question Number : 148 Question Id : 42558910880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one is the fifth rasa as per the given paragraph?

1. Prithvi

2. Vaak

3. Jala

4. Sama
Options :

42558942344. 1
42558942345.2
42558942346. 3
42558942347. 4

Question Number : 149 Question Id : 42558910881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which pair constitutes Udgeetha-

1. Vaak & Prana
2. Jala & Aushadi
3. Purush & Vaak
4. Female & Male
Options :
42558942348. 1
42558942349, 2
42558942350. 3
42558942351. 4

Question Number : 150 Question Id : 42558910882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Omkaar is the rasa of —

1. Prithvi

2. Rika

3. Vaak

4. Saam
Options :

42558942352. 1
42558942353. 2
42558942354. 3
42558942355. 4



Question Id : 42558910877 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
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Sub questions

Question Number : 146 Question Id : 42558910878 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SHER Y frari wfa e &2
1. TR
2. EEH
3. FHETE H
4. TEIH
Options :
42558942336. 1
42558942337.2

42558942338.3
42558942339. 4

Question Number : 147 Question Id : 42558910879 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 FEHL I 98 HA Sl YT Ll 8 2

1. @3
2. &

3. #|F
4. &7
Options :

42558942340. 1
42558942341.2
42558942342. 3
42558942343. 4

Question Number : 148 Question Id : 42558910880 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

RIS T & TR 5 Jf T FHAA 8 2
1. Y=
2. 9=
3. W@
4. Tm

Options :



42558942344. 1
42558942345.2
42558942346. 3
42558942347. 4

Question Number : 149 Question Id : 42558910881 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

forereh ST (WAM) | 3N 1 G ol @ ?

1. 9 IR

2. o 3R s

3. %9 3R A

4. ©il SR IEY
Options :

42558942348. 1
42558942349.2
42558942350. 3
42558942351. 4

Question Number : 150 Question Id : 42558910882 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
SR R W R 2
1. Y=
2. %
3. 9%
HH

e

Options :

42558942352. 1
42558942353. 2
42558942354. 3
42558942355. 4



